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Question Number : 1 Question Id : 630680254707 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

‘Who won the Nobel Peace Prize for their work on literature in 2022?
Options :

% Greta Thunberg

¥ Annie Ernaux

% Malala Yousafzai

% Al Gore

Question Number : 1 Question Id : 630680254707 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2022 & FrHF0D DS ENE STBS 7083 22TVHBD TENTNEY D DIB?
Options :

% [0er O30

¥ @) J0°)§)

® o0ETET 0N 2TCN
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Question Number : 2 Question Id : 630680254708 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which international organization recently recommended that the world should cut methane emissions by 45% by 2030?
Options :

¥ United Nations

% World Health Organization

% International Monetary Fund

% World Meteorological Organization

Question Number : 2 Question Id : 630680254708 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2030 5°¢38 D00 DTS ST T 45% SHOTTO B3N D)) TS 0ST°HBAD HOQ DE?
Options :

v 085072350063

% (D0 e85 HOD
% 0BT RO (355 A
% (DD rErdBen DO

Question Number : 3 Question Id : 630680254709 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In which year did the United Nations adopt the Global Compact for Safe, Orderly and Regular Migration, which aims to better manage
international migration?

Options :
% 2020
% 2023
¥ 2018
% 2014

Question Number : 3 Question Id : 630680254709 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

0BT B0 SOIDK VAT AESFOTONE GTIODNS TS 520 HB DD, &80 HBW BrHsed DoBASD
2085072350003 SITPA0DS D05 IB0 DE?

Options :

#® 2020

% 2023

¥ 2018

% 2014

Question Number : 4 Question Id : 630680254710 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In 2020, which country withdrew from the Open Skies Treaty, which allows unarmed surveillance flights over the territories of its
signatories?

Options :
% Russia
% China
¥ United States
# France

Question Number : 4 Question Id : 630680254710 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
202065°, & TFO &30 DOBHEO TN, 5% 25TeT eI AT AN DT DXTTO NS0T 2erS0ol es5°%
2:0)0C0 (4578 259 (€3¢3) Hod IEON0E?
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Options :
# Oars
® OO°
¥ JSoaswnE o°(arew
# (@500

Question Number : 5 Question Id : 630680254711 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In which year did Kamala Harris become the first woman, first Black person, and first person of South Asian descent to become Vice
President of the United States?

Options :
# 2020
¥ 2021
# 2022
# 2023

Question Number : 5 Question Id : 630680254711 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Eer HFER HDOANE T°aTe P $E0TPEN 0N RNE) FcHES 0%, i S©23ed 358 HBAN 38 7 aAsr
HOHBE TOAD BCIE 558 & H0s5e5 306 easrssy?

Options :

% 2020

¥ 2021

% 2022

# 2023

Question Number : 6 Question Id : 630680254712 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which Indian cricketer became the first Indian to score a century in all three formats of international cricket, in 2023?
Options :

% Virat Kohli

+ Rohit Sharma

% Mahendra Singh Dhoni

% Shikhar Dhawan

Question Number : 6 Question Id : 630680254712 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2023 & 0T 0% (ETEEST ST TS’ FS$5Q) Q0D D) DCIES 23S0 (88D DIS?
Options :

% oo For

7 B 35

% 35ero(ed VoA B

% 2O %I

Question Number : 7 Question Id : 630680254713 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In which year did the Indian Council of Agricultural Research (ICAR) develop a new high-yielding variety of soybean called MACS
1407?

Options :
¥ 2021
& 2023
# 2019
# 2015
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Question Number : 7 Question Id : 630680254713 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
R080HS TS 6D e9(AZe )5S 15 (ICAR), MACS 1407 &= § 9058 OH2ET.) OSSR 0DS9D T
0035150 DE?
Options :
¥ 2021
@ 2023
% 2019
% 2015

Question Number : 8 Question Id : 630680254714 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which app did the Indian government launch to help track and contain the spread of COVID-19?
Options :

¥ Aarogya Setu App

% Aaykar Setu App

# BHIM UPI App

% mAadhaar App

Question Number : 8 Question Id : 630680254714 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

EDE-19 SV €378 TANBOES’ 0B AOHOB0TIBOS” DO TBANEAE 237G e (552965 S0 (BTS00 S ST
DE?

Options :

¥ &85 8 O

% 0080 Dby 0D

% BHIM UPI OS2

% mAadhaar OS5

Question Number : 9 Question Id : 630680254715 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In which year did the Indian government launch the Swachh Bharat Abhiyan (Clean India Mission)?
Options :

# 2015

& 2012

# 2016

¥ 2014

Question Number : 9 Question Id : 630680254715 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

235 (02065 50 D £ 2SS 9D AT (§S QOB AR (PS0D0DD D055 IB0 DE?
Options :

% 2015

% 2012

% 2016

¥ 2014

Question Number : 10 Question Id : 630680254716 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Name the low-cost COVID-19 testing kit launched by Indian Institute of Technology (IIT) Delhi in 2020.
Options :

# Covishield

% Coronil

+ Corosure

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 4/67



28/06/2023, 17:51 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

% Covaxin

Question Number : 10 Question Id : 630680254716 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

BOBOHS ASVEPES D s 28 (IT) &) 2020 &° (FPS0DODS 5807 5-5S FVE-19 TIQOR 865 D BOHOR.
Options :

% EIND

% S

 SEHr50

% €08

Question Number : 11 Question Id : 630680254717 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Name the scheme launched by the Indian government launch to promote literacy and education in adults, in 2020?
Options :

& Rashtriya Madhyamik Shiksha Abhiyan

% Right to Education Act

+ Padhna Likhna Abhiyan

& Sarva Shiksha Abhiyan

Question Number : 11 Question Id : 630680254717 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2020 & 3PS €98 T°5e5 BTN DI |86 JorotdTE 23S 1925065 S0 (FS0DO0DS DGO DS?
Options :

% O 2ODH SPBINE B DTS

% Q%5 o°80) V&0

¥ J), Ogr) ©DAFTS

# OB ST DA

Question Number : 12 Question Id : 630680254718 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

The National Commission for Protection of Child Rights (NCPCR) was established as a statutory body under which Act?
Options :

% The Juvenile Justice (Care and Protection) Act

+ Commissions for Protection of Child Rights (CPCR) Act

% The Child Labour (Prohibition and Regulation) Act

& The Protection of Children from Sexual Offences Act

Question Number : 12 Question Id : 630680254718 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

TASS AR HO TS 3D TS BES) (NCPCR) @A tHLIDRTIS QORMT & 90 (D530 0 DB0E?
Options :

% 2°IIO 28IV (30 @0& |FBES) Lo

¥ 23 Jr80) @ D0BE € ENAS (CPCR) &0

% 2°® 57828 (D0 08O AOHO(5ea) IO

% S0NE Jo°e DH0G ereed BF .6 &0

Question Number : 13 Question Id : 630680254719 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Name the scheme launched in India to improve nutritional outcomes for children, pregnant women, and lactating mothers in the year
2018.

Options :
# Aapki Beti Hamari Beti
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% Pradhan Mantri Matru Vandhana Yojna
% Kanya Kosh
¥ Poshan Abhiyaan

Question Number : 13 Question Id : 630680254719 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2018 50551306 DO, HOIES | VN HOTN FOT ) SENOH FFATTFTR), DHISITIL 2B TF0cS
LIPS0 O0DS DHEO DEH BOJHOR.

Options :

% @39 2563 5758 25¢3

% (050 O[3 dedg) DO DB

% 075

o ALY €980

Question Number : 14 Question Id : 630680254720 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which state did the National Green Tribunal (NGT) impose a fine of Rs. 100 crore industrial pollution in April 2023?
Options :

¥ Rajasthan

% Gujarat

% Assam

% Goa

Question Number : 14 Question Id : 630680254720 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

SASS (S (€32055S (NGT) DS 202365 7870 52e0aLsE medd B, 100 §€) 238557570 & T7(aFIE DHOD0E?
Options :

¢ OB

# (VBB

® "0

% For

Question Number : 15 Question Id : 630680254721 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is a popular mobile payment application used widely in India as of 2023?
Options :

# Interac

# Venmo

¥ Paytm

% Square Cash

Question Number : 15 Question Id : 630680254721 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1808 ¢35’ 2023 °¢38 2B HTFOS” N YO G HTITAOTIVEEAD), (e INBS T LNTAS DE?
Options :

# RQOLTS

PESIND)

¥ Paytm

% 050 S5

Question Number : 16 Question Id : 630680254722 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Which of the following cities in India has been rated as the cleanest city in the Swachh Sarvekshan 2022 survey conducted by the
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Ministry of Housing and Urban Affairs?
Options :
¥ Indore
# Surat
% Bhopal
% Varanasi

Question Number : 16 Question Id : 630680254722 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

95T B8 NDEED 95XTPT* 005 ¢ T DS SoTODS D589, DB 55,65 2022 HB S 2rSSTIOS' &3 80O
SHTS 955085 HBHETN SHSOT BES TANDAS SHBE0 IE?

Options :

v 3080

# Qi

% oS

% OG0

Question Number : 17 Question Id : 630680254723 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following diseases is caused by a virus and can be prevented by vaccination?
Options :

# Malaria

# Tuberculosis

¥ Hepatitis B

& Dengue fever

Question Number : 17 Question Id : 630680254723 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1808 >SS IOV SO I8, 350 3 50° ATBOSHOT a5 DE?
Options :

% DSOS

% £.ADTO

¥ PHBE3V B

% @oirsy 8580

Question Number : 18 Question Id : 630680254724 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which animal was declared as the National Aquatic Animal of India in 2022?
Options :

% Olive Ridley Turtle

" Gangetic River Dolphin

% Gharial

% Blue Whale

Question Number : 18 Question Id : 630680254724 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2022 & 2PSHTIF 23D B B8O (HEE30TIIES 23065068 DE?
Options :

% 3OS 8& &Ben

¥ 5o SO TR

% 30O (BASTSD)

% O SMoreo
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Question Number : 19 Question Id : 630680254725 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is NOT an organ of the human body?

Options :

' Photophores

% Liver

s Esophagus

% Small intestine

Question Number : 19 Question Id : 630680254725 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1B0& ¢3S’ 337565 3BB0S°R) 9505550 TG DE?
Options :

¥ Y0

% SBAD0o

# ) 08

EEANMI oM

Question Number : 20 Question Id : 630680254726 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is an example of a macromolecule?
Options :

# Water

# Glucose

& Sodium chloride

¥ Deoxyribonucleic acid (DNA)

Question Number : 20 Question Id : 630680254726 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1BO& T3S’ 209sTCI0YED ETeTSEe DE?
Options :

% OB

% (108

% FG0v0 §B&

¥ A8 )B S 585 A& (DNA)

Question Number : 21 Question Id : 630680254727 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is required to increase the absorption of iron in the human body?
Options :

% Phytate

" Vitamin C

& Calcium

% Polyphenols

Question Number : 21 Question Id : 630680254727 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
557389 3BE0E” R 37D DOTITRE &: 1808 ¢3S @SS IE?
Options :
% DB
¥ S C
% 5000
% @‘@3&5"59
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Question Number : 22 Question Id : 630680254728 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is a type of ecological succession that occurs in an area that was previously devoid of life?
Options :

" Primary succession

% Secondary succession

& Tertiary succession

# Pioneer succession

Question Number : 22 Question Id : 630680254728 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1B0& ¢3S’ 31005 28550 B (F0S0ES” DOLBNOT 208 BED DT°5e383ed €[S IE?
Options :

¥ [POE 9N (B

% O 5HO% 9N (E0eD

% 59305 €9N(E0ED

% G888

Question Number : 23 Question Id : 630680254729 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following cooking methods involves a chemical reaction that results in the formation of a new substance?
Options :

% Boiling corn

% Frying a chicken

# Steaming vegetables

+ Baking a cake

Question Number : 23 Question Id : 630680254729 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1B0& e3¢5 50BN I 28 FS DTG0 BT SO0 9SS E?
Options :

% GCOETEIS JngpSN),

% DI SONOTILO

# S0°OmraOZ &) DGO

¢ 340) 238 TOHB0o

Question Number : 24 Question Id : 630680254730 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following regions in India is particularly vulnerable to sea-level rise, tropical cyclones, and riverine flooding?
Options :

% Patna

¥ Mumbai

% Jhansi

# Indore

Question Number : 24 Question Id : 630680254730 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

B0 3’ 285 T35063°Q DS L0 DEHB0, EeaeNOBE 5aTEN BN & (HTIFOE HBTDS (ros0
DE?

Options :

® 20°¢%)

¥ 0023
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% B
% 2080

Question Number : 25 Question Id : 630680254731 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Choose the correct option based on the statements below:

Statement 1: Disaster Risk Reduction (DRR) is the process of minimizing the impact of disasters on society through precautionary
measures.

Statement 2: Early warning systems are a critical component of disaster risk reduction.

Options :

% Only statement 1 is true

% Only Statement 2 is true
¥ Both statements are true

& Neither statements are true

Question Number : 25 Question Id : 630680254731 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

B BN (DEEISE eGS0 OB DODED DONT0R:

DBES 1: 3230 B8 BBE.S (DRR) @9TE 8300 2315 £3856> T° §T° Dedre303) DD (H23rar) A0 (H(EA%.
1OBEI 2: SN0 23025 YJOE 295900 DN 1DXPeR), 500t5c06S EOEIS 9030.

Options :

% (DEOS 1 SFSD HBSS

% (DEOS 2 SFSDH HBSS

¥ BO DI HBII

% BOC (DELIOS” B HBIE 5°¢%0

Question Number : 26 Question Id : 630680254732 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Choose the correct option based on the statements below:
Statement 1: Remote sensing and GIS technologies can be used for damage assessment before a disaster.
Statement 2: Remote sensing and GIS technologies can be used for post-disaster damage assessment and reconstruction planning.

Options :

% Only statement 1 is true

% Only Statement 2 is true
¥ Both statements are true

% Neither statements are true

Question Number : 26 Question Id : 630680254732 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A 1HEEIS eETBOMT DT D0DEX DOTHEOR:

(083 1: DNAIZO SNOCN Al @ONR® AN BRTED 1R ION HOAW GIS APOSIEBORD G OAITAOINTD).
(08 2: BHRTE YO HOAKN GIS rOTe3Ee5EI DN ©90HE R0 O SDBAM HNB) T8 (DT P8
800 &ITrROTISD).

Options :

% (DEOS 1 S5 HBSE

B (DEOS 2 SRS HBSE

¥ Bod (HELSEN HBSS

% BOH (DEOIOS” DB JBIA 5%

Question Number : 27 Question Id : 630680254733 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Choose the correct option based on the statements below:
Statement 1: Air pollution is caused only by human activities.
Statement 2: Planting more trees can significantly reduce air pollution levels.

Options :
% Only Statement 1 is true
https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 10/67
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+ Only Statement 2 is true
# Both statements are true
% Neither statements are true

Question Number : 27 Question Id : 630680254733 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A 18IS eSETFEOMT DT D0NEX DOTHEOR:

(DEEIS 1: PA%W SPENNF0 B0 3P SPESEETIE 5D S DOZSINOE.
8EIS 2: DEY S TIEIRD FPEI0 S A5 SN FTONEN BEIDADOMT iHEran.
Options :

% (DB 1 S OB

7 (DB 2 S OB

% B0 (DN OBID

% BO 1DZLSOES’ DA HBIE 5°¢H

Question Number : 28 Question Id : 630680254734 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Choose the correct option based on the statements below:
Statement 1: Marine pollution only affects marine life and ecosystems.
Statement 2: Plastic pollution is the only form of marine pollution.

Options :

% Only statement 1 is true
% Only Statement 2 is true
& Both statements are true

" Neither statements are true

Question Number : 28 Question Id : 630680254734 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

AKX (DB eGSO OB DOVEX DOHEOG:

1083 1: D3 57050 D3NS 260 0B DTEXBED S50 3375 (D20 TANO.
(D 2: D*AE 57eNNF0 9T DAN(E STENAZ0 TN, DB s°8E0.

Options :

% [DEOS 1 SF(ST HBSS

2 (DEDS 2 STSDH HBSS

% BOCK (DELSED HBSS

¥ BO (DELIOS” B HBIE 5°¢%0

Question Number : 29 Question Id : 630680254735 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Choose the correct option based on the statements below:
Statement 1: Greenhouse gases trap heat in the Earth's atmosphere, leading to the greenhouse effect.
Statement 2: The main greenhouse gases include carbon dioxide, methane, and nitrogen oxides

Options :

% Only statement 1 is true

% Only Statement 2 is true
+ Both statements are true

% Neither statements are true

Question Number : 29 Question Id : 630680254735 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A D8I eSETFEOMT DT D0NEX DOTHEOR:

DEE 11 |AS 57728 205090 2570 TBNEY FERSBe0S A 2200w, A8 AS ¥ (HrTA8 28 S Q0d.
1B 2: (DTS (AR T¥°28 S A50YOS 5°65)& GOSTEIR, DB S 0005 TS 53¢ S

Options :

% [DEOS 1 SF(SD DB
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% D8 2 SP(FH IBSA
¥ BO (HELIN IBIS
% DO (DEIOS DB HBIO 59

Question Number : 30 Question Id : 630680254736 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Choose the correct option based on the statements below:
Statement 1: Ozone depletion is caused by human-made chemicals such as chlorofluorocarbons (CFCs).
Statement 2: Ozone depletion only occurs in the lower atmosphere where humans live.

Options :

+ Only statement 1 is true

% Only Statement 2 is true

s Both statements are true

% Neither statements are true

Question Number : 30 Question Id : 630680254736 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

AKX (DB eGSO OB DODEX DOHEO:

DO 1: TEFE 5°5)S) (CFCED) $0¢3 85575 Beh SPOHT® S5O 4,87 § 695 IS IS0,
108 2: 'S § 8965 337096920 DIVOT BN FERSBEI0S’ 57|55 HOBJNOE.

Options :

& 1HEOS 1 ST DS

% (DEOS 2 SFSDH HBSS

% DO (HEOSED DB

% BOC (DELIOS’ B HBIE 5°¢%0

Question Number : 31 Question Id : 630680254737 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Choose the correct option based on the statements below:

Statement 1: Deforestation leads to loss of biodiversity and ecosystem services.

Statement 2: The government of India has established community-based forest management systems to involve local communities in the
conservation and management of forest resources.

Options :

& Only statement 1 is true

& Only Statement 2 is true
+ Both statements are true

& Neither statements are true

Question Number : 31 Question Id : 630680254737 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

AKX (DB eGS0 OB DOVEX DOHEO:

D8I 1: 98D DBFIOS BITDCILO S0BON NDT°SIGE 3550 DS ST SN0,

1B 2: @EI HSBD HOBE €9 BTSN DS 579" TP NDONTDD 2N £e050 TONTE 23778 eh (28¢5 0
E20750¢3-e3570 5 €938 DB 5569 S5V DT®)EN TOOE.

Options :

% [DEOS 1 SF(SD DB

% [DES 2 SP(SD HBSS

¥ BO (HEOSN HBSS

% BOC (DSOS’ DA HBIE 5°¢

Question Number : 32 Question Id : 630680254738 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Choose the correct option based on the statements below:

Statement 1: Biodegradable plastics are a better alternative to traditional plastics.

Statement 2: The production of some biodegradable plastics requires large amounts of energy and resources, and their disposal can still
contribute to environmental pollution.
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Options :

& Only statement 1 is true

% Only Statement 2 is true
+ Both statements are true

& Neither statements are true

Question Number : 32 Question Id : 630680254738 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A D8I SETEOMT DT D0NEX DOTHEOR:

(DB 1: 233HE S VTN P0NTTOD F°RNTZD 00D (DEBEI) ONO.

5 2: Q) BH5FOES TNEE red 18 ) B0’ $8 208050 $55EIEN €99 YT N SDBA5N eI
FEIONC0 BDIE38 HT°5556d ST E5TC0 BXOE.

Options :

# (DES 1 337 SHBIA

% (DEDS 2 SFSDH HBIS

¥ BO (HELSED HBSS

% BOC (DSOS’ DA HBIE 5°¢

Question Number : 33 Question Id : 630680254739 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Choose the correct option based on the statements below:

Statement 1: The ozone layer is essential to protect living organisms from harmful ultraviolet (UV) radiation from the sun.
Statement 2: The Montreal Protocol, an international agreement, was successful in phasing out the production of ozone-depleting
substances.

Options :

% Only statement 1 is true

% Only Statement 2 is true
+ Both statements are true

% Neither statements are true

Question Number : 33 Question Id : 630680254739 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&K (DB eGSO OB DOVEXD DOHEOG:

OB 1: OB HOA ST TPAEES 9B aeh (UV) DEBeT® H0& 2Beyercdd 38 098 'S &
@3NB0.

DEES 2: SO0 (FE' S, 9T 0BT A 2,000, 8.85°S J-§ 308D DT &5 IB SFOTEM
S$00TIC0S" DesONHOS 0.

Options :

% (DEOS 1 ST BSOS

% (DEDS 2 Sr(SH HBIS

¥ Bo DI HBII

% DO 1DELSOES’ DA HBIE 5260

Question Number : 34 Question Id : 630680254740 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statements are true regarding the monsoon climate of India?
A. It brings rainfall during the summer season

B. It is caused by the differential heating of land and water

C. It affects only the coastal regions of India

D. It is responsible for 80-90% of the rainfall in India

Options :

% Only statement D is true

% Only statements A and B are true

% Only statements A, B and C are true
+ Only statements A, B and D are true
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Question Number : 34 Question Id : 630680254740 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
2PESTIOSQ BDNS TTIEETIE H0DO0AO0D) &2 (0O [HELIOES’ Qe IE DE?
A. 3O 39D 5006 T SN0A
B. 28 25770 08050 e3 Ty, 23c5°e928 S SO DB IR0S0A
C. 3O rESTFOS S (FPOTO S5 (DeTNH0 TR0
D. 2738 SHTBF0CS” 80-90% SVTTIE B 2¢I5eh Hare DO
Options :

% |08 D J7(S T DB

% A SO0 B (D880 SIS IS

% A, B 005D C (D800 S:(85H OB
¥ A, B 08050 D [(HEE38e0 S OB

Question Number : 35 Question Id : 630680254741 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statements about natural resources in India is/are correct?
I. India has abundant reserves of coal, iron ore, and bauxite.

II. India has the world's smallest reserve of thorium.

III. India is in top 5 countries producing of crude oil and natural gas per year.

IV. Major Lithium deposits have been discovered in Kashmir.

Options :

% land II

# 1,11, and 11T

¥ Tand IV

# I, 11, III, and IV

Question Number : 35 Question Id : 630680254741 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2PESTIOS D528 SIS NN &t (80O ¢3S HBIE/D DE/D?

L 28 T350S” &5TE, R0 DA sHBAEN 237 IET e §60 80P ™) ON.

IL (DD0H0S'S @98 550),.65 EBAHO0 Jed e 2SS’ Ed).

T 193 50365350 23008 353005 0G5 ST O50eY ) Ereh Y& TR &9((f 5 BFOS arESTI0 .
IV. 5326 28 IS0 OGOHO DT Fen EdFSDTow.

Options :

% 1o00AW I

% LI, Q83w III

¥ 10830 IV

% L IL, 111, o083 IV

Question Number : 36 Question Id : 630680254742 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statements about the Deccan Plateau are true?
a. It is located in the southern part of India.

b. It is a volcanic plateau.

c. It is a fertile region with black soil.

d. It is the smallest plateau in India.

Options :

% Only statements a and b are true

% Only statements ¢ and b are true
# Only statements a, b and ¢ are true
% Only statements ¢ and d are true

Question Number : 36 Question Id : 630680254742 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

83 & DBTDE H0200E0D &3 (B0 ¢3S DBXD D?
a. A 2rGSHTF0 gy 58 £ eriioS Eeck.
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b. A @ALDS 55 DSTD.

c. AQ 3O BHEA TS’ 5GBS A SES0H S (0 0.
d. 9B rESTIOS' & D) DEET.

Options :

% 2 SO00 b HELSL0 SFST DI

% ¢ SOOI b HELSL SPGB

¥ a, b B ¢ HELSE0 SPS T DD

% ¢ SO0 d [(HELSLO SFS T DI

Question Number : 37 Question Id : 630680254743 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statements are true about the Western Ghats in India?

a) The Western Ghats is a mountain range that runs parallel to the western coast of India.

b) It is a UNESCO World Heritage Site and a biodiversity hotspot.

c) The Western Ghats are home to several endemic species of flora and fauna, including the Lion-tailed macaque and the Nilgiri Tahr.
d) The vegetation along the Western Ghats includes tropical evergreen forests, semi-evergreen forests, and grasslands.

Options :

¥ Statements a, b, ¢ and d are true

% Only statements a, b and d are true
% Only statements b, ¢ and d are true
% Only statements ¢ and d are true

Question Number : 37 Question Id : 630680254743 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2PSESTFOS D)6 E00OE D00HOD & 180 7¢3S° DE HBIE?

2) Do 060N 2PBHTFOS' D3)e% STV DXTOSSEOM €59 DS S¢b (3€3.

b) R UNESCO (DD0 P80eh § (DTF0 08050 2BXR[IGTEI8 30§ (DTH0 .

€) D)3 E0eN 9TE FAE 2AO 998, HBASN 20ehzTeTreE AOOVOMT G 0N, DE3SS’ DOSTO-E H5°E
38050 DA #5535 ).

d) 52650 0600 0B 50 598 N0NSES N0 Dedeh PO eoBeTsen, a8 E-Deheh PO BT 5N sHBTSN
B 25rdnen Eedd).

Options :

¥ a,b, ¢ DBAW d (HDEEISEN ST

% a, b o080 d (DEEISEN 377 OB

% b, ¢ B0 d (DEEIEN 377 ad OB

% ¢ 805 d (DEOSEN SF(SH HBSD

Question Number : 38 Question Id : 630680254744 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statements about the demographic profile of India is/are true?
A) India is the third most populous country in the world as of 2022.

B) The population of India is predominantly rural.

C) The sex ratio in India has been improving over the years.

Options :

% Only statement B is true

% Only statement C is true

+ Only statements B and C are true
% Only statements A and C are true

Question Number : 38 Question Id : 630680254744 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2rESTFO TBNEY, 2BSD0ZTS HODOBTN (PN D000 &3 (80 (HEEIIS DE/D DB SE/D?
A) 2022 T°¢38 (95075065 @b BE 23m7er EORS S07°C8ed TF0 23 BHTIFO.

B) 3 SS$ T30S 2372 (OGSO (PadEDe.

C) eSS0 Dotf DAID TR D0 YT DEHIDSOR.

Options :

% B [DEOS SHSD HBSE
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% C D8O S5 OBIO
¥ B 0805 C (D80 Sr(evsh OB
% A SOBAN C (HEESED SIS0 DBSD

Question Number : 39 Question Id : 630680254745 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following factors contribute to poverty in India?
a. Excess of education and skills

b. Unequal distribution of land and other resources

c. Low wages and poor working conditions

d. Gender inequality

Options :

% Only statements a and b are true
+ Only statements b, ¢ and d are true
% Only statements a, b and c are true
% Only statements ¢ and d are true

Question Number : 39 Question Id : 630680254745 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2ESTIOS DOTAE & (80O @076 EF0 TR DE?
a. BB DS 0BT JSYET5e0

b. 25370 080N WSS HIHO 9DSTS HODES

c. 580265 BTN S0BAN IR DA DBV BIEN
d. ©0 €933

Options :

% 2 00 b (HEESN SP(HT HBSD

¥ b, ¢ SHOO d HELSED ST HBHD

% a, b SOOI ¢ (HEEISED SFS DTS

% ¢ SO0 d (DI SP(S3 HBSD

Question Number : 40 Question Id : 630680254746 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statements about Sikhism and Buddhism in India are true?

i. Sikhism originated in the 15th century in Punjab, while Buddhism originated in India in the 6th century BCE.
ii. Both Sikhism and Buddhism accept the caste system and emphasize inequality among all people.

iii. The Golden Temple in Amritsar is a holy site for Sikhs, while Bodh Gaya is a holy site for Buddhists.

iv. Sikhism and Buddhism have a significant following in the Indian states of Punjab and Sikkim, respectively.

Options :
% iandii
% ii and iv
% ii and iii

+ 1, iii, and iv

Question Number : 40 Question Id : 630680254746 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2rESTIOS’ D LY S50 BTN 2TRNTAE HO2IOAOND &8 |80 |DELSS” DA HBIE?

1. 2rGEST330S” DEVY 050 5027 S’ 155 FTROS €¢I IDOTIT, 2700 655 38°20 BCES &¢5)D0D0E.

ii. B0y 00 08O 270 BOCKT H0€ 5300 e90NEHT AN S0BAM (D230 30855 €DSTSSD 58y
32N OW.

iii. @09 SNBET H 8 BreAHO 1ELE DA DO ONS, 2T LPEEL 208 KO DA DeO.

iv. 50360650 0B 23S0 2PSSTIOS' D022 NG5 DEFOS’ HBHIM HEIDOIZS @ISO O
€5 0.

Options :

% i 08w ii

# 11 DOAW iv

% i S0OO%W iii

¥ i, iii, OO iv

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 16/67



28/06/2023, 17:51

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 41 Question Id : 630680254747 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Match the following types of unemployment in List- I with their descriptions in List- II:

51 No. | Types of unemployment —— ListI | Sl No. | Descriptions - List IT
A Frictional unemployment i Unemployment due to changes in technology or demand
for goods and services
B Structural unemployment ii Unemployment due to lack of skills or education
C Cyclical unemployment iii Unemployment due to seasonal fluctuations in industries
D Seasonal unemployment iv Unemployment due to economic downturns or recessions
Options :

#® A-1,B-ii,C-iii,D-1iv
¥ A-i,B-ii,C-iv,D-iii
# A-ii,B-1,C-iv,D-iii
# A-1,B-iv,C-1ii, D -iii

Question Number : 41 Question Id : 630680254747 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

prder-1e5°0) & S0 nmfigﬁ@ 5T

prdre- 11657 arth DG adndods:

B.00. | OEHS oTen— 2Doe I | 5.00. | Dddnen —doe I
A 20ges Ao i FoBNSHES” AFNED G DD D0doT DD
Adrol SeOmOTr ijé‘ﬂ’ﬁﬁo
Do e & DO fIo il DpErgen dor Desy Geraco Hy DEjio
8o Do iii DBFDS TOPODED APCONEDR) SCERoTT DDE(t0
D erDE DOE(o v 0308 erare e Sor rocsjo SOmenT DGEo
Options :

#% A-1,B-ii,C-iii,D-iv
¥ A-1,B-ii,C-iv,D-iii
% A-ii,B-1,C-iv,D-iii
% A-1,B-1iv,C-1i, D -1iii

Question Number : 42 Question Id : 630680254748 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Match the following agricultural practices in List -I with their respective regions in India in List -II:

51 No. | Agricultural Practices — List -1 51 No. | Respective Regions in India — List -1I
A Shifting cultivation 1 Punjab
B Terrace farming 2 Northeast India
C Intensive farming 3 Madhya Pradesh
D Dryland farming 4 Himalayan foothills
Options :

% A-1,B-3,C-2,D-4
¥ A-2,B-4,C-1,D-3
% A-3,B-1,C-2,D-4
% A-3,B-2,C-1,D-4
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Question Number : 42 Question Id : 630680254748 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

DI -16°D S0b HEOI0L DEBOVD DT -I165°D) 2r6e38F0e5° D) T78) 20200063 Frotre)d RODCD0c:

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

5. Do. | HgDHIead DB — doe I | S. Do, | 2r63E306°D Hoe0dd Frooren — rdoe -1
A 208 HyHJrano 1 Doard
B 0P DEHIOL0 2 TR 2POBB0
C Jrogs BB 3 bVlalestat;
D 205y, B DFOIOLO ¥ TraroaD DO e Focen
Options :

% A-1,B-3,C-2,D-4
¥ A-2,B-4,C-1,D-3
% A-3,B-1,C-2,D-4
% A-3,B-2,C-1,D-4

Question Number : 43 Question Id : 630680254749 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Match the following sources of energy in List —I with their respective states in India in which they are found in

abundance in List --II:

S1 No. | Sources of Energy — List -1 51 No. | Indian States of Abundance—List -TI
| Coal a Gujarat
2 Hydroelectric power b Jharkhand
3 Wind power C Tamil Nadu
4 Solar power d Himachal Pradesh
Options :
% 1-d, 2-c, 3-b, 4-a
¥ 1-b, 2-d, 3-c, 4-a
% 1-d, 2-a, 3-b, 4-c
# 1-b, 2-a, 3-c, 4-d

Question Number : 43 Question Id : 630680254749 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

& 300 e -165°D S0d 33 IV erdoe-T1e" DB €:0) OBD 305D T ow0HD TEPOF 2BH0S0E:

B.%0. | 33 ddwen — Do 1 | R0, | DARGE v 883 mgvm Y ¥, P { |
1 Ao a HRoeS
2 20 DENS 33 b dargols
3 DD DY 73 ¢ DT
4 6 Doy #3 d SRS DO
Options :

% 1-d, 2-c, 3-b, 4-a

¥ 1-b, 2-d,

3-c,4-a

% 1-d, 2-a, 3-b, 4-c
% 1-b, 2-a, 3-c, 4-d

Question Number : 44 Question Id : 630680254750 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Match the following rivers in India with the states they flow through:

(A) Brahmaputra (i) Karnataka and Tamil Nadu

(B) Krishna (ii) Assam and Arunachal Pradesh

(C) Cauvery (iii) Andhra Pradesh and Chhattisgarh

(D) Godavari (iv) Maharashtra and Telangana
Options :

% A-(ii), B-(iii), C-(iv), D-(i)
% A(iii), B-(i), C-(ii), D-(iv)
% A-(iv), B-(ii), C-(i), D-(iii)
« A-(ii), B-(iv), C-(i), D-(iii)

Question Number : 44 Question Id : 630680254750 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

306 2P CNBF0ES’D DEORA €93 VDo ToaOF BBDG0E -

%

(A) 22577508 | () STPOS S0BOTD BIVVTED
& E 8

i

)3

B) l;,.gv (i) @3“30 D0HOI IDETSES DT

(
(C)sob (iii) €506 PIBT SDOOIL SHD TVE

(D) B | (iv) Sosdforg S0d0KD BooTrE

Options :

# A-(ii), B-(iii), C-(iv), D-(i)
# A-(iii), B-(i), C-(ii), D-(iv)
# A-(iv), B-(ii), C-(i), D-(iii)
¥ A-(ii), B-(iv), C-(i), D-(iii)

Question Number : 45 Question Id : 630680254751 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Match the following Directive Principles of State Policy in List-I with their respective Articles in the Constitution of

India in List -1I:

s1 Directive Principles of State Policy -- List-1 sl Articles in the Constitution of
No. No. |India - List -I1
A Promotion of education and economic interests of Scheduled i Article 46
Castes, Scheduled Tribes, and other weaker sections
B Provision for just and humane conditions of work and maternity | ii Article 42
relief
C Separation of the judiciary from the executive iii Article 50
D Protection of monuments and places and objects of national iv Article 49
importance
Options :

% A-iv,B-ii,C-iii, D-i
% A-i,B-iii, C-ii,D-iv
% A -iii, B-ii, C-i,D - iv
¥ A-i,B-ii, C-iii, D - iv

Question Number : 45 Question Id : 630680254751 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
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2 DE-165°D 7o D)3 0208000 308 DFFS AU rdor -1 2r6e Trerjoriods™)
T D0220HE IASOETOLE 2DN0N0C.

3.00. | ooy Do DF#8 wrgren — #doe -l d.50. | 68 Dearjoriod'd
dg6mren--- 2rdoe -1l
A TS Sveren, RETHES Beed SOOI QG VOLPD SFre Dey | | ©OS0m0 46
S00AID €30S HOLRT O Tarprocco
B 20 20d0in DO EDFI00 G208, ~IHOiDD0 Fetlaleuih] i eafiS0Ea0 42
AFHDCH DODARD
C OGRS SR Aol FPOLDDRML D dabo i 98205630 50
D 2rdam Pawaye sOAD FLos D) en 00 DBTW iv SO0 49
SB0E) SN BE6

Options :

# A-iv,B-1i,C-iii, D -1
% A-1,B-iii,C-ii,D-1iv
% A-iii,B-ii,C-1i,D-iv
¥ A-i,B-ii, C-iii, D - iv

Question Number : 46 Question Id : 630680254752 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is/are the correct pair/pairs of Fundamental Duties and their article in the Indian Constitution?

A) To uphold and protect the sovereignty, unity and integrity of India - Article 50

B) To abide by the Constitution and respect its ideals and institutions, the National Flag and the National Anthem - Article S1A
C) To promote harmony and the spirit of common brotherhood amongst all the people of India - Article 32

D) To safeguard public property and to abjure violence - Article 35

Options :
% Only A
% Only A and B
+ Only B
% Only Cand D

Question Number : 46 Question Id : 630680254752 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 1808 ¢3S |PRNE DN SHBOSW 23S eh Toes0R0eS’ 37¢3 BESETE HOTNS 2365/ DE/D?

A) 273BTE S 52T G0, 508565 0O (1§69 DeIG0TIBO HOAM BE.0IB0 - OIS0 50
B) USO8 DG S0&, T e3¢3T°) sHBON HOXOD, 27305 BOTD 0B 230 Aerd)
TONOTIC0 - 9HEBO 51A

0) e@ES$TF0SD (B0 NG TPNBER), AN PGrded FPAY 237 DOTFOROIB0 - OSSO0 32
D) [223° e $8 .0t $DBA%N 200 $5220t0E) - 9OEB0 35

Options :

% A S(ehadd

% A DO B e S

¥ B (5

% C 08350 D e S

Question Number : 47 Question Id : 630680254753 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the correct pair of Fundamental Rights and their related articles:

A. Right to Equality - Article 14

B. Right to Freedom of Religion - Article 25-28

C. Right against Exploitation - Article 32-35

D. Right to Constitutional Remedies - Article 23-24

Options :

% Only C
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¥ Only A and B
% Only D
% Only Band C

Question Number : 47 Question Id : 630680254753 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

EPADE $T7803e0 XBAN °¢38 HOVOHODS @OESTS OB 265 JOTNTOR:
A. Q3555 §6) 780, - ©OHEBEI0 14

B. 0¢5 5298 s780y - @0HEB0 25-28

C. DA ABE0T P8, - OSSO 32-35

D. 0723500 DOXLT° PEY, - 9SS0 23-24

Options :

% C Sr(dad

¥ A B3O B €0 S°(¢had

# D S°(¢hadd

% B B0 C e S5

Question Number : 48 Question Id : 630680254754 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the correct pair of terms related to Indian citizenship with their definitions:

1. Citizenship by birth : Citizenship obtained by birth to at least one Indian parent

2. Citizenship by naturalization : Citizenship obtained by living in India for a certain period of time

3. Citizenship by registration : Citizenship obtained by marriage to an Indian citizen

4. Citizenship by descent : Citizenship obtained by applying to the government and meeting certain requirements

Options :

+ Only options 1 and 2
% Only options 1 and 3
% Only options 1 and 4
% Only options 2 and 4

Question Number : 48 Question Id : 630680254754 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2865 B 8 HODOEODD AB SIS DT Beh 220D DOTHEOR:

1. HENES D2B06550 : D0 2.8 27Be30% S H0(COZ RS & sT° DB 0 DO

2. D3PEEB 3 S0° PS50 1 AOR S0 FEN 27BBHTIIOS” DIV0TIBO T3 ST° S5 €0 F0CH2S0E
3. 828 VIS & 50° B 50 : 27SE30D TG DaFsT0 TDENE DB 3 ST° FOES DB S0

4. 506583 BT PEDeh SO : (D20E8° ST B A0 HAAN §R), €35% 585> EOA &0B0 &° s0° DB S0
ENIOTAININY

Options :

¥ 1 08050 2 DODEEN S°(H

% 1 300050 3 DOV S7°(Ha0

% 1 308050 4 DODEEN ST°(Ha

% 2 00050 4 DOV 377 Ha

Question Number : 49 Question Id : 630680254755 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Choose the correct pair of political positions in India and their corresponding authorities:
Options :

# Chief Minister of a state: Presiding Officer of the Lower House

% Governor of a state: Head of Government

% Speaker of Lok Sabha: Constitutional Head of a State

" President of India: Head of the State

Question Number : 49 Question Id : 630680254755 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
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2PESTIOS” DB 2365 T2380% FO sHOON 7¢38 H0220E0DS AT JoTHE0H:
Options :

% 2,8 O°(Q 0$N0(e3: QS O (DRGON 9O

% Ol (9980 10250eb § eofDde3

% 55925 2)86: 2.8 T (aF8 Tver50 OIS

¥ 338 T° QD3 T o 9D

Question Number : 50 Question Id : 630680254756 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is correctly paired with its description under the Judiciary system of India?
a) Supreme Court - The highest court of appeal in India

b) High Court - Deals with cases related to state laws

c) District Court - Deals with cases related to national security

d) Lok Adalat - Deals with criminal cases involving heinous crimes

Options :

+ Only option a

% Only options b and d
% Only options b and ¢
% Only options c and d

Question Number : 50 Question Id : 630680254756 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 808 TES 2rESTH TS0V TR DB DO 236 TADDASE DA?
a) (DOTD - 2B HTFOS D @559 & T OISO

b) 3PEW - TR IEFE H0OE0DN TN $53578: N0

0) 236> 8 - 2305 25(HFD H0DOEONDD BNOE H§9TEN0E

d) S5 OO - @870 ST"OZ H020EH0DN [BNIS OO 5535760
Options :

¥ 24 DODE S5

% b SO0 d DODEEN S°(H

% b oDOO ¢ DONEEN S5 hadd

% ¢ 0005 d DODEEN S35

Question Number : 51 Question Id : 630680254757 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Pick the correct pair/pairs:

a. Rajya Sabha: Lower House

b. Lok Sabha: Upper House

c. Vidhan Sabha: State Legislative Assembly
d. Vidhan Parishad: State Legislative Council

Options :

& Only option a

% Only options b and d
% Only options b and ¢
+ Only options ¢ and d

Question Number : 51 Question Id : 630680254757 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

DB 2365/2353 DOTHFOR:

a. 0°2350025: &M 023

b. °85925: A0S 25

¢. ATIN2S: T°(Q FPSI02S

d. DS DBASB: T B DO
Options :

# 2 0N (B

% b 0O d DONZEN 3775

% b O ¢ DODEEN ST|STH
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¢ ¢ 0000 d DONEEN ST

Question Number : 52 Question Id : 630680254758 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Arrange the following State Executive positions in the order of hierarchy, starting with the highest position:
1. Chief Secretary

2. Governor

3. Chief Minister

4. Advocate General

Options :

%4,3,1,2
% 2,3,4,1
¥#2.3,1,4
%3,1,2,4

Question Number : 52 Question Id : 630680254758 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
&2 1806 07 58505578 QTEOKD ©68355) 8 S0 (PS0DOD AT 500 8038 )08:
1. (05 5285858
2. 85835

3. dowgdoled

4, @538 338
Options :

% 4,3,1,2
%2,3,4,1

2.3, 1,4
%3,1,2,4

Question Number : 53 Question Id : 630680254759 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Arrange the following in the CORRECT order of their occurrence in the Parliamentary Procedure in India:
1. Question Hour

2. Zero Hour

3. Adjournment Motion

4. Calling Attention Motion

Options :

% 2,3,4,1
% 1,2,4,3
¥ 1,4,3,2
% 4,3,1,2

Question Number : 53 Question Id : 630680254759 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

18B0& e3Q 2BeHTF0S FO0EE 5SS ST’ 9 HONOT DB (50065 90E ) 0E:
1. (D5 Sore SdHaHho
2. 288 @030

3. POV STS0
4.5°O00 BN A
Options :

%2,3,4,1

%1,2,4,3

v 1,4,3,2

%4,3,1,2

Question Number : 54 Question Id : 630680254760 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Arrange the following State Institutions in CORRECT order of hierarchy, from top to bottom:
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1. District Panchayat

2. Intermediate Panchayat

3. Village and PESA Panchayat
4. Wards

Options :

% 2,3,4,1
¥ 1,2,3,4
% 1,4,3,2
% 4,3,1,2

Question Number : 54 Question Id : 630680254760 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 1808 TR NDOPOD IBS @OTES 1006 @308, D o0& [Eods:
1. 83 HOTTONE

2. 08559 DT

3. P00 BN DD HOTTONE
4. &en

Options :

®2,3,4,1

¥ 1,2,3,4

% 1,4,3,2

% 4,3,1,2

Question Number : 55 Question Id : 630680254761 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Arrange the following steps in the correct order to describe the process of the formation of a Gram Panchayat in India:
1. Elections are held for the members of the Gram Panchayat.

2. The government announces the creation of a new Gram Panchayat.

3. The members of the Gram Sabha elect the Sarpanch.

4. The members of the Gram Panchayat elect the Up-Sarpanch.

Options :
¥ 2-1-3-4
@ 1-2-3-4
# 2-3-4-1
# 3-2-14

Question Number : 55 Question Id : 630680254761 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2BSHTFOS’ (Pedd HOTTANE JTYEN (BN DeSBOITTAE &3 180B 53 DB (506 @508 08
1. ([Ps30 HOTTONE HEDFOE DY EEN DB ET0I20 ST 0.

2. 5 Mo DOTFONE DT°YEN TS EW (9205 50 1HEE3N08.

3. [[Pe023 02050 G HOR D) 00erS.

4, (I HOTTOHE H2ZH5EN Eo-0E 0T D) Fo0ErEd.

Options :

¥ 2-1-3-4

% 1-2-3-4

% 2-3-4-1

% 3-2-1-4

Question Number : 56 Question Id : 630680254762 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Arrange the following members of the Panchayati Raj system in India in the correct order of authority, from the lowest to the highest
level:

i. Gram Sabha

ii. Gram Panchayat

iii. Zila Parishad

Options :

% i, i, i

% 1, 1ii, ii
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& 1, iii, 1

¥ 1, i, iii

Question Number : 56 Question Id : 630680254762 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2PBHTFOS' DOTTON T 953V’ 3 (0B D205 (BOB 0N O €955 ¢ 00 SEZ DB O ES
18006 @8)08:

i. (TP 023

ii. ([Pedd HOTTONE

iii. 22¢° DOAS

Options :
& 111, 1, 11
& 1,111, 1
& 11, 111, 1
¥ 1, i, iii

Question Number : 57 Question Id : 630680254763 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Arrange the following Acts in chronological order of their occurrence:
a) Rowlatt Act

b) Government of India Act
¢) Indian Independence Act
d) Regulating Act

Options :

¥ d,a b, c

# c,d,ab

% b,a,d, c

% d,c,b,a

Question Number : 57 Question Id : 630680254763 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

3 (80O I @) DBYBIVAS 5P (EIr DB @08 YO:
a) T Hd&o

b) 28eb (020eb § O

¢) 237865 P §S0RB§ IO
d) BrhsSe30h W&o
Options :

¥ d, ab,c

# c,d,ab

# b,a,d, c

% d,c,b,a

Question Number : 58 Question Id : 630680254764 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Arrange the following events in chronological order:
1. Indigo Movement

2. Partition of Bengal

3. Quit India Movement

4. Formation of Indian National Congress

Options :

% 2,3,4,1
% 1,2,3,4
¥ 1,4,2,3
% 4,3,1,2

Question Number : 58 Question Id : 630680254764 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
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Bo& S0NEIDD SO(ETPNTEOMT @S Yo &:
1. Q08 &0

2. Borr® Je3S

3. 85¢0 RORA €5¢I§e00

4. 355 22305 SPO(TR DT YN

Options :

%®2,3,4,1

% 1,2,3,4

v 1,4,2,3

% 4,3,1,2

Question Number : 59 Question Id : 630680254765 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Arrange the following key groups and institutions in chronological order of their formation:
A. Indian National Congress

B. All India Muslim League

C. Ghadar Party

D. Hindustan Socialist Republican Association

Options :

# B,A,D,C
# A,D,C,B
#% C,D,B, A
¥ A,B,C,D

Question Number : 59 Question Id : 630680254765 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 (808 £ DTN sHBOSN DOV JT°)EN TINEY SOESTOTEOMT €98 JO&:
A. 23865 205 SORR

B. ¢S R0&05r w0 OF

C. 056 8

D. SFOTR FADY 8IHDES 0FVAS
Options :

% B,A,D,C

% A,D,C,B

% C,D,B, A

¥ A,B,C,D

Question Number : 60 Question Id : 630680254766 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Arrange the following personalities in chronological order of their death:
1. Rabindranath Tagore

2. Bhagat Singh

3. Mahatma Gandhi

4. Sardar Vallabhbhai Patel

Options :

¥2.1,3,4
% 4,23, 1
®3,2,1,4
# 2,3,4,1

Question Number : 60 Question Id : 630680254766 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
3 (80O 350 78 080 BEY SO (ETPDPBOMT €908 )0:

1. 8o Tetird

2. 3503 DO

3. It od

4. 35 527D SO
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Options :
¥2.1,3,4
% 4,2,3,1
% 3,2,1,4
% 2,3,4,1

Question Number : 61 Question Id : 630680254767 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Arrange the following Socio and Religious Reform events in chronological order of their establishment:
1. Beginning of the Brahmo Samaj

2. Founding of the Theosophical Society

3. Bengal Sati Regulation Act

4. Sharda Act

Options :

#2,3,4,1
¥ 1,3,2,4
% 1,2,3,4
% 4,2,3,1

Question Number : 61 Question Id : 630680254767 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&8 1808 38 DO e 0N BED G5O °¢3 TP ARNEY SPO(F PO SO €908 )0 &%:
1. (208572 N37230 (orS02350

2. BBFTDES FE3 TS

3. oS D3 AOHO|Se IO
4. 3O YO

Options :

% 2,3,4,1

¥ 1,3,2,4

% 1,2,3,4

% 4,2,3,1

Question Number : 62 Question Id : 630680254768 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which group of Indian nationalists was formed in 1916 with the aim of achieving Swaraj or self-rule for India?
Options :

% The Indian National Congress

% The Muslim League

¥ The Home Rule League

% The Indian Socialist Party

Question Number : 62 Question Id : 630680254768 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

PESTFTIL O 502850 BT D IDOTFOS FEOT OF S0 1916 S DBIBS eTGEI0% 2Fe3ONTCNE DT E?
Options :

% 2755 2D 50

% 500 OF

v 0D &S OF

% Y0BOHS FAOY >

Question Number : 63 Question Id : 630680254769 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which organization was formed in 1928 by Bhagat Singh, Chandrashekhar Azad, and other revolutionaries to carry out armed revolution
against the British Raj?

Options :
# The Hindustan Socialist Republican Association
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# The Indian National Congress
# The Indian National Army
% The All India Muslim League

Question Number : 63 Question Id : 630680254769 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

D3R DOTORIB0 S5BTEOMT TP ANE DRN0 TOCNZL 58S DOR, L0 TWO €238 BTN R DI EEN
1928 ¢ FDODD HOR DE?

Options :

¥ POOTS FFADQ BIDES 9FDTDAS

% 2355 2PEOD SORR

% Q0BOHS TAIS es8,

% &S Q0B SV OF

Question Number : 64 Question Id : 630680254770 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

is a direct tax in India.
Options :
% Goods and Services Tax (GST)
% Excise Duty
% Customs Duty
+ Corporate Tax

Question Number : 64 Question Id : 630680254770 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
O 2PSESTIOS” 28 (D55E. D).
Options :
% 3N HBAZN WS N (GST)
% 0328 Wo¥o
% EQN) Mogo
¢ 5FBE H),

Question Number : 65 Question Id : 630680254771 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following schemes is aimed at providing financial assistance to pregnant and lactating women in India?
Options :

% Pradhan Mantri Jan Dhan Yojana

+ Pradhan Mantri Matru Vandana Yojana

% Swachh Bharat Abhiyan

% Digital India Programme

Question Number : 65 Question Id : 630680254771 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1808 73S’ 2B 35065 K8)ENEN HBAN FOT ) erFEL €308 DIFOHO OB OF S0P Ked HHEo
DE?

Options :

% (057 03 B O TWoresdd

¥ (DG 0| 35°ehg) 50D B3T3

# 055 2SS 98T

% B3SO 0BT B Ee0AN

Question Number : 66 Question Id : 630680254772 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
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Which of the following is NOT an example of foreign direct investment (FDI) in India after liberalization?
Options :

& Investment in shares of an Indian company by a non-resident

# Investment in government securities by a foreign institutional investor (FII)

+ Purchase of apparels by a foreign national for personal use

# Investment in a mutual fund by a non-resident

Question Number : 66 Question Id : 630680254772 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

DEDESED ST 565 2rESTIOS” DTP (D558, DERAEIOZ (FDI) &TPePSaT BOIR ¢3S’ &2
Options :

% (DR 7 ST° 2SS 0D S0 NS DY B

% QTP DO S 0EPDEED (FII) @ O° (2065 ¢ I8 epadd

¥ 55819¢5 & OTN0 §H0 28 DTP DR CHWO Ff'en TS0

% (DR T°ST° S05TNSIS HoHS P> H

Question Number : 67 Question Id : 630680254773 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is an example of privatization in India under economic reforms since 1991?
Options :

& Setting up of a new public sector company

+ Selling a stake in an existing public sector company to private players

% Nationalization of a private company

# Giving subsidies to a private company

Question Number : 67 Question Id : 630680254773 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1808 ¢3S’ 1991 0B 308 H0D) B (80 erE T30S’ | 2SEIEBEE0 ST S IE?
Options :

% § 152065 § 0K DOQ DT®YEN

¢ 2D)E3T &) 192065 § SOK E0NAES’ 33 [SES E0DIOZ DF00TIS0

% 28 S 0D Ty, 2rrESed

% [ DSE $0AE Tromeden A 50

Question Number : 68 Question Id : 630680254774 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which Five Year Plan in India was launched after the economic reforms of 1991?
Options :

+ Eighth Five Year Plan

% Ninth Five Year Plan

% Tenth Five Year Plan

% Eleventh Five Year Plan

Question Number : 68 Question Id : 630680254774 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1991 €398 503 889> ST° 565 2rESTIOS’ &) HOTISEY DT DE (S0 0TIDB0E?
Options :

¥ QAN DOIREG (DeTr P

B SIS HOHSE (HeTDE

% DS DOVREG (DeT 8

# DAFT0BS H0TISY (DeT P

Question Number : 69 Question Id : 630680254775 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
Which of the following measures was taken by the Indian government to promote trade after the economic reforms of 1991?
Options :
& Imposing high tariffs on imported goods
# Allowing only state-owned companies to participate in trade
+ Reducing tariffs on imported goods
# Banning imports of all non-essential goods

Question Number : 69 Question Id : 630680254775 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1808 ¢33’ 1991 €308 H0D) B HT°Seh ae3e3s), (5 )or0tIT. 2rGeh 19256550 3NZSY, TIBS DE?
Options :

% QM TOZR), SN2 @S MO DHOIRO

% 323506 FSVIETE (208§ OS2 8rd506T°Q 0D S5 3 €903 0TICE0

¥ B0 TOZVD), SNHO D) MO $R0TIB0

% ©Q) ©65530BHS WY BNRNBI DAHOIR0

Question Number : 70 Question Id : 630680254776 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

The Green Revolution in India refers to which of the following?

Options :

% The spread of environmental awareness in India

+ The introduction of hybrid seeds and modern farming techniques in India
% The implementation of renewable energy sources in India

% The promotion of organic farming in India

Question Number : 70 Question Id : 630680254776 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

PESTIOS” O INS0 8 1808 3¢3S° BA P DNOE?

Options :

% GSHTFOS” DTG @STTS 5N

¢ 21ESTI0S” PDE VST N COE S5STOD DA HBTAHO
% 2rOBTIOS HSBTYE RO JIKO e9sen

% 2PSESTFOS VODOD SEST AT, (e Yor0Tscso

Question Number : 71 Question Id : 630680254777 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following states in India were the first to adopt the Green Revolution?
Options :

+ Punjab, Haryana and Uttar Pradesh

% Rajasthan, Gujarat, Madhya Pradesh

% Kerala, Karnataka, Uttar Pradesh

% Tamil Nadu, Assam, Andhra Pradesh

Question Number : 71 Question Id : 630680254777 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2ESTIOS &3 (80O Tl 5786 DR, INEIIEM (ZFE0DODSE DE?
Options :

¥ 502585, PU°5° QDOOW & BS(DT3

% O°BT°®, (DB, DADTT

% 30, §T°0E, &BS(0TT

# SNFDR, ®I°)0, SO(HDTT
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Question Number : 72 Question Id : 630680254778 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statements is true regarding the reservation policy in India?
Options :

% Reservation is based only on economic criteria

+ Reservation is based on both economic and social criteria

% Reservation is not based on any criteria

% Reservation is based only on social criteria

Question Number : 72 Question Id : 630680254778 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2ESTIOS” 8238 508 AFard8 Ho0E0D & (B0 (DSOS’ AR A DE?
Options :

% 023050 ©80% (DITETO ) 3°(¢had GBI GOLNOA

¢ 8233 50 €388 HOM A3 SP0D BTSN SOENOD

% 023052 & (DAPET e TGO €05

% 02T 50 IO 33 (DATETE R A7 add EGEENR G0N0

Question Number : 73 Question Id : 630680254779 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following schemes aims to provide healthcare services to economically weaker sections of society in India?
Options :

% Pradhan Mantri Jan Dhan Yojana

+ Ayushman Bharat - Pradhan Mantri Jan Arogya Yojana

# Pradhan Mantri Fasal Bima Yojana

% Atal Pension Yojana

Question Number : 73 Question Id : 630680254779 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 1808 HHTOS’ 2arBSHTF0 Hdre0eS’Q SO0 28T STOZ &5 DOBE £ VIO OAOTITE
&BI0DEIE DE?

Options :

% (057 O B O e

¥ @3O0SNIRS 2B - (DS DO B8 es8s T3re3d

% (D5 008 HOS Dadr TS

% OO DI BB

Question Number : 74 Question Id : 630680254780 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In the Constitution of India, the Right to Education can be found under
Options :

% Fundamental Rights

% Directive Principles

¥ Article 21A

% Fundamental Duties

Question Number : 74 Question Id : 630680254780 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2rSeh Toes0f0ES, DTS S°E0) D 8005 TICHTN).
Options :

% (oS P8V e

% JVFE Jrleren
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¥ OEB0 21A
% [PONE AEoew

Question Number : 75 Question Id : 630680254781 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

According to the Rights of Persons with Disabilities Act, 2016, what percentage of government vacancies are reserved for persons with
disabilities?

Options :
% 1%
% 2%
¥ 4%
% 5%

Question Number : 75 Question Id : 630680254781 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

NEPOMO TFHY WO, 2016 (DFE0, DETFOMNDOZ DO B0 (020ed § 2 den 8238 5 DOV ON?
Options :

% 1%

@ 2%

¥ 4%

% 5%

Question Number : 76 Question Id : 630680254782 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Into how many agro-climatic zones Telangana State is divided?
Options :

® 3

¥ 4

® 5

%6

Question Number : 76 Question Id : 630680254782 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

SO0 T (RO D), 3§ ON-TTFIBED SDOCHETENT 252200 0G0E?
Options :

% 3

¥ 4

® 5

% 6

Question Number : 77 Question Id : 630680254783 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

How many basins are there in Telangana state?
Options :

® 5

% 4

%3

¥ 2

Question Number : 77 Question Id : 630680254783 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

B0med TR0 HETIE (oTPen ), Em™) 00?
Options :

® 5
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% 4
%3
¥ 2

Question Number : 78 Question Id : 630680254784 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statement/s is / are CORRECT?
(a) The pattern of drainage is generally Dendritic drainage pattern with wide valleys in the western pedi plain in Telangana state.
(b) There are 4 basins and 12 sub-basins in Telangana state.

Options :

¥ Only (a)

# Only (b)

% Both (a) and (b)
% Neither (a) nor (b)

Question Number : 78 Question Id : 630680254784 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 (808 1DEOS/S’ DB /DD HBIE /1Q?

(2) BOOTE T (ROS'D HB5D DESSTRIS” DFOTS SODOS EADOT TN S0P 9TE FTPSIOM
FPONEH 2P ST®.

(b) B0 T°QOS' 4 DETSTE (FOT e DO 12 €5 DETETE (FOTPEN ) ON.

Options :

¥ (a) S5

% (b) (B

# (a) DO (b) @0 BOCR®

% (a) S (b) DO 5°C0

Question Number : 79 Question Id : 630680254785 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statements are CORRECT?

(a) Telangana is the Only State in entire Southern India with vast deposits of Coal
(b) Bauxite Ore occurs in Adilabad District in Telangana.

(c) Limestone Slabs occur in Vikarabad and Nalgonda Districts in Telangana.

(d) Iron ore in Mahabubabad district in Telangana

Options :

¥ (a), (b) and (d)
& (c), (b) and (d)
& (a), (c) and (d)
% (a), (b)and (c)

Question Number : 79 Question Id : 630680254785 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 (808 |DEOSS” DA/ IBIE/D?

(a) 58,69 2 ESTIOS” DTS SH AF. e EOAS DIE T°l A0 BOOMED
(b) 230 P20 BOOMS esOererd 87’ DO,

(©) BOOMTEIS' JSPT°2rE O S0 22 ) HT° AW HeEen DI OW.
(d) BOOMPLS' TFATeTeTE 2SS 9D VB0 EOD

Options :

¥ (a), (b) 0BAW (d)

% (c), (b) OO (d)

% (a), (c) OAW (d)

% (a), (b) DB (c)

Question Number : 80 Question Id : 630680254786 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
What is Telangana’s total installed capacity from wind power as of 20227
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Options :
# 108 megawatts
% 118 megawatts
¥ 128 megawatts
# 138 megawaltts

Question Number : 80 Question Id : 630680254786 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2022 °¢38 B0 AZNEY INBO TS DI F8 NP0 D0B?
Options :

% 108 e

# 118 DMeY

¥ 128 OMPIEY

® 138 e

Question Number : 81 Question Id : 630680254787 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

According to the data from the Central Electricity Authority (CEA), Telangana is ranked in India in terms of total installed
capacity of renewable energy as on September 2021.

Options :
@ sixth
¥ eighth
% fourth
% tenth

Question Number : 81 Question Id : 630680254787 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

0OS o8¢5 ©968¢3 (CEA) TBNEY ST (H5°E0, DR0DD 2021 7°¢38 HSGE )5 38 TSy INBo e
FNG50S° BOOMED 2rSSTIOS & TS0 0.

Options :

# &30

¥ QA

% 0"

% 90

Question Number : 82 Question Id : 630680254788 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statement/s CORRECT?
(a) Rajiv Gandhi International Airport was opened in Telangana state in 2014.
(b) NH 16 in Telangana state passes through the important towns of Karimnagar, Adilabad and Nizamabad.

Options :

% Only (a)

¥ Only (b)

% Neither (a) nor (b)
% Both (a) and (b)

Question Number : 82 Question Id : 630680254788 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&2 1808 [HES /S DO HBIE/D?

(2) TS O ©OST°BOD DIFFON0 2014 & B0mred T RO’ (FE0DODEOE.

(b) BOMED T°| RO DO IF 9 NH 16 880565, e3s&e2rE 08050 ezredrrer® $0¢3 Snsad D&eare Howe
30eHod.

Options :

% (2) S°(Hodd
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¢ (b) S°(¢had
% (2) 5°Q 0O (b) 5°Q DA 5°¢%0
# (a) DO (b) @0 BOCR®

Question Number : 83 Question Id : 630680254789 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is the additional official language of Telangana state?
Options :

¥ Urdu

# Tamil

# Kannada

# Hindi

Question Number : 83 Question Id : 630680254789 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 808 TS BOOMEd T Q0 TINEY D) OTOE o7 DE?
Options :

¥ &8y

% ST

% 88)¢8

% 08

Question Number : 84 Question Id : 630680254790 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

_ is performed widely across Telangana which is similar to Yakshagana.
Options :

% Dhoom Dham

& Perini Sivatandavam

¥ Chindu Bhagavatham

% Golla Suddulu

Question Number : 84 Question Id : 630680254790 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

ODETIR), O GOTB R BOOTMTED 0T DNYBOM (D80S0,
Options :

% 0P T%

% 0083 330850

¥ Do 23°099¢50

% O Pen

Question Number : 85 Question Id : 630680254791 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

___is also known as bell metal craft and is widely seen in Jainoor Mandal, Ushegaon and Chittalbori in Adilabad district.
Options :

% Banjara

# Rangam

# Ghattam

“ Dhokra

Question Number : 85 Question Id : 630680254791 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

S8ererS BOS BATE OO0, & AMTS SNOM VBSSBOS JNyborr EIN0T A BS DOS (59 @
Ec DEOTK.
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Options :
# 2020°
% dofo
% NYO
v 8l

Question Number : 86 Question Id : 630680254792 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

__ is a Hindu Festival, celebrated during the Telugu month of Ashadam.
Options :

% Dussehra

+ Bonalu

% Ram Navami

% Holi

Question Number : 86 Question Id : 630680254792 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

o9 3OS HOBN B IS earcocS 2350023C0e08.
Options :

# Ado°

v Sren

# 000 Qoda)

% 20O

Question Number : 87 Question Id : 630680254793 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statements are CORRECT?

(a) Dhokra or Dokra is also known as bell metal craft

(b) Bidri Craft is the unique art of silver is engraved on metal.

(c) The renowned Nirmal oil paintings use natural dyes for depicting themes from the epics.
(d) Telangana is famous world-wide for its amazing Copper castings

Options :

% (a), (b) and (d)
% (a), (c) and (d)
% (b), (c) and (d)
¥ (a), (b) and (c)

Question Number : 87 Question Id : 630680254793 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&2 1808 [HESS” DB/D HBSE/D?

(a) 815" B> B5° BS DS (59 Q) E5E@° DENTED

0) DO (5D IO S0 F06E BT 2.8 HBEDS &,

(©) D355 DEIS SONS DON0L0HS BRI OB BBSYTOD SQOBETA’ HFes SotHen
DA T OW.

(d) @05 TR 58 BOOMTED (DDOITEROM (DVE TOLHOL
Options :

% (a), (b) SHOAW (d)

% (a), (c) DB (d)

% (b), (c) HOASW (d)

¥ (a), (b) DOAW (c)

Question Number : 88 Question Id : 630680254794 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Which of the following pairs is INCORRECTLY matched?
Options :
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% Bathukamma Festival - celebrated by womenfolk
% Vijayadashami Festival - also known as Dussehra
% Bonalu Festival - celebrated during Ashadam month

+ Sankranthi Festival - also called as ‘peerla panduga’

Question Number : 88 Question Id : 630680254794 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 1808 BSOS I DO 2BSDHBTIIHECD?

Options :

% 220802 DOCOA - SarFen 23S0 EFH

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

% D20NAFN DO - A BT Q) §orca® @0y Sd
% 57O DO — BRLBATI0S’ BBIYZ0ETSE
¥ H0[5°08 HOEN - BAR DY HOCHH' €9 ST 90ETED.

Question Number : 89 Question Id : 630680254795 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is CORRECTLY matched?

Options :
Fort District
Golconda | Karimnagar
Bhongir | Yadadri
Elgandal | Hyderabad
®
Fort District
Golconda | Hyderabad
Bhongir | Yadadri
Elgandal | Karimnagar
J
Fort District
Golconda | Hyderabad
Bhongir | Karimnagar
Elgandal | Yadadri
®
Fort District
Golconda | Yadadri
Bhongir | Hyderabad
Elgandal | Karimnagar
®

Question Number : 89 Question Id : 630680254795 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&2 1808 TS’ A HOT BSHSIDR0E?
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Options :
e 28
He&) 0 | sbonnib
ZDHOBD | aIFEEd
J0ES | TETErS

“
= e
e | raverd
ZDHHBG | airTd
deyocses | sbooib

7
e 2er
Heea | Tooerd
20308 | b0016
OGS | OITTE®

“
ge 2er
Heyo | arod
00000 | srGTrerd
oS | SBodnb

“

Question Number : 90 Question Id : 630680254796 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Arrange the following in the increasing order of year of completion / establishment
(a) Construction of Charminar was completed.

(b) Construction of Secunderabad Railway station was completed.

(c) Salar Jung Museum was established in Hyderabad

(d) The Arya Samaj was established in Hyderabad

Options :

& (a), (c), (d) and (b)
¥ (a), (b), (d) and (c)
& (b), (c), (d) and (a)
# (0), (a), (d) and (b)

Question Number : 90 Question Id : 630680254796 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

FPB00 / FPR0TIDEN H0XSIE0 Ty, WOT (E00” & 180 3°¢3Q 050308
(2) ©°8°0 QT°90 J*OoN 0.

(b) DEOITerEd BB VAS DT°2690 F*BoN0A.

(c) ?g“cﬁcl*w’f‘iQS:r rerd 2300 0§ 0N0 FPD0IDE0H
(d) 3rS0°erES 8508578 FD0IDE0E

Options :

# (), (c), (d) B8O (b)

¥ (a), (b), (d) DOAKW (c)

# (b), (c), (d) SHOAW (a)

# (c), (a), (d) BAW (b)

Question Number : 91 Question Id : 630680254797 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In which year Arogya Lakshmi scheme was launched in Telangana?
Options :

% 2014

¥ 2015

% 2016

% 2017

Question Number : 91 Question Id : 630680254797 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

B0 e8185e8 2 DAY & H0N$IB0S (S0 0TS?
Options :

% 2014

+ 2015

#® 2016

% 2017

Question Number : 92 Question Id : 630680254798 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statement/s is / are CORRECT?

(a) In the year 1942, during the regime of Nizam, excavations were taken up in Karimnagar, Nalgonda District and discovered the
historical evidences such as the signs of Buddhism, coins, utensils etc

(b) Kotilingala in Karimnagar district was the capital city for Shatavahana dynasty. During the year 1970-74, excavations were held in
Kotilingala and Doolikatta and uncovered a lot of historical evidences and archeological monuments.

Options :

% Only (a)

¥ Only (b)

% Both (a) and (b)
% Neither (a) nor (b)

Question Number : 92 Question Id : 630680254798 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 1808 (HEES /S DE /D HBXE 1?2

(a) 194265°, Q230 FOSTOES', €08, 8058 TS 23¢50DDES 59 S5O 23N IE H020E0DS DI*Y e,
TN, 2T(HEN INABS 8 (hE ST O EdfF®) .

(b) 88035%55 2BPS' 3OO FSaTeTS SOTE T2 SKS0. 1970-74 H0SH Y506 83D omre, CrdsdiersS
2ODS 55557 IS TrO(HE LT, YT EEITTEN 0DEINTON.

Options :

% (2) S°(Hodd

¥ (b) S7°(¢hadd

# (a) 083 (b) e BOCK®

% (2) 5°Q 0O (b) 5°Q DA 5°¢0
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Question Number : 93 Question Id : 630680254799 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Which of the following statement/s is / are CORRECT?

(a) The Buddhist texts and the chronicles of Megasthenese, who visited India in the 5th century BCE, referred to the existence of many
fortified towns in Telangana.

(b) Telangana has an iconic saree weaving cluster at Pochampalli, Nalgonda District

(c) During the medieval era, Telugu literature benefitted from the patronage provided by Quli Qutb Shah, the founder of the Qutb Shahi
dynasty

Options :

¥ (b) and (¢)
% (a)and (c)
% Only (c)
& Only (a)

Question Number : 93 Question Id : 630680254799 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
&3 1808 [HES/S” DB 1D HBIE 1?

(2) 23D (OGN BN 565 38°20 BCES' erS 370, 0800 RNQDV TBwE), S9&oeeen, B0’
©% 5 DT &E ST OW.

(b) BOTTEIZ TOAS S0 2ETS'Q F30HDES VAT DS FS$8E TOBS DOTEF0 GOA

(€) S0CSSONHOCE, Eoe8eS Lo T°2350% FHHBS 0O HoesreS 2T @O0AODN |FE)sTOS Senih I eress0
(D320 FOOR.

Options :

¥ (b) SHBAKW (c)

# (a) NOAW (c)

% (c) r(Hod

% (2) S°(Hod

Question Number : 94 Question Id : 630680254800 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Arrange the following in Chronological Order based on the year of establishment.
(a) Andhra Samvardhini Library was established

(b) A magazine Andhra Sahitya Parishat was started

(c) Osmania Arts College was established

(d) Salar Jung Museum was established

Options :

% (b), (), (d) and (c)
% (a), (b), (d) and (¢)
¥ (a), (b), (c) and (d)
% (d), (b), (a) and (c)

Question Number : 94 Question Id : 630680254800 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

D 00VEN D05 )50 STPSOM 68 (808 T3 SO (FATDPBOMT €08 )Odk.
(a) 80(& D0SE e |HOFDON0 FDOWVDROE

(b) SO(E) rarehs DONSB @ (&S (B0DONVR0D

() BT &) 970 FDODDR0A

(d) eerd 2300 0§23 ON0 FPD0IDG0E

Options :

% (b), (a), (d) HOAW (c)
% (), (b), (d) HOAW (c)
¥ (a), (b), (c) DO (d)
% (d), (b), (a) OOAW (c)

Question Number : 95 Question Id : 630680254801 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is CORRECTLY matched?

Options :
Writer Work/Novel
Puttaparthi Desa
Naravanacharya | Charitralu
Srirangam Penugonda
Srinivasarao Lakshmi
Vasireddy Mattimanishi
Seethadevi

©
Writer Work/Novel
Puttaparthi Penugonda
Naravanacharya | Lakshmi
Srirangam Desa
Srinivasarao Charitralu
Vasireddy Mattimanishi
Seethadevi

‘i./
Writer Work/Novel
Puttaparthi Mattimanishi
Narayanacharya
Srirangam Desa
Srinivasarao Charitralu
Vasireddy Penugonda
Seethadevi Lakshmi

©
Writer Work/Novel
Puttaparthi Penugonda
Naravanacharya | Lakshmi
Srirangam Mattimanishi
Srinivasarao
Vasireddy Desa
Seethadevi Charitralu

©

Question Number : 95 Question Id : 630680254801 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 (808 TS’ DA HOT BSHSIDR0E?

Options :
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Question Number : 96 Question Id : 630680254802 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following pairs is CORRECTLY matched?
Options :

# Koilkonda Fort --- Nalgonda district

% Chaya Someswara Temple ---Mahabubnagar district
% Ramappa Temple --- Hyderabad district

+ Domakonda Fort ---- Kamareddy district

Question Number : 96 Question Id : 630680254802 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 1808 BSOS IO DO BSIHBIDR0E?
Options :

% SonSY 0% 8 - S0 BU°

% O FadF ST OO0N0 --- oTrared SO 23e°
% 70D BrOONO --- 33HTerE 3C°
BT §) - 550G 8

Question Number : 97 Question Id : 630680254803 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

As per Aarogyasri the benefit on family is on floater basis i.e., the total reimbursement of can be availed of individually or
collectively by members of the family.

Options :

# Rs.1.00 lakhs
# Rs.1.25 lakhs
# Rs.1.50 lakhs
# Rs.2.00 lakhs

Question Number : 97 Question Id : 630680254803 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

87153 (D580 F0e0023A8 FeD (BHEES (HTTBN0 G0N0 0T, 002 2NN SsdHsor Sce
DX [0S0 Bo025I0E X F0ST0.).

Options :

% 85°.1.00 ©F e

% G125 ©F e

8. 1.50 ©8 en

% 8. 2.00 ©8 en
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Question Number : 98 Question Id : 630680254804 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
In which district of Telangana Regional Science Centre is located?
Options :
% Hyderabad
¥ Warangal
& Nalgonda
% Nizamabad

Question Number : 98 Question Id : 630680254804 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

BOOTeS’ (00D JZFS B30 & B &od?
Options :

% 20T

¢ J808S

% S0

% Qe

Question Number : 99 Question Id : 630680254805 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In which year the States Reorganization Commission (SRC) submitted its report and recommended formation of Telangana state?
Options :

# 1950

# 1953

¥ 1955

# 1958

Question Number : 99 Question Id : 630680254805 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2 H0S5SIE0S T AT IS 59VEBED EMAS (SRC) 55 ASAEXD D080 SOOTPED TH) DTIENED DB
BD0H?

Options :

% 1950

% 1953

¥ 1955

% 1958

Question Number : 100 Question Id : 630680254806 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In which year students intensified the protests for a separate Telangana state?
Options :

# 1964

# 1965

¥ 1969

# 1972

Question Number : 100 Question Id : 630680254806 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

B8 Be>0rren T N0 §R0 DTSN ) D055 IE0ES 965 ABDSEN SBe3e5B0 TFS?
Options :

® 1964

% 1965

¥ 1969

# 1972
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Question Number : 101 Question Id : 630680254807 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

On which date in 1969, all party accord was reached to ensure the proper implementation of Telangana safeguards?
Options :

« 19™ January

% 19th February

% oth July

% 9™ June

Question Number : 101 Question Id : 630680254807 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

196963° & BES, BOOMPET 2595 D|FDOT 50N TWONE Q) FE 2,0)0¢50 F0&E0E?
Options :

¥ 22398 19

% 2230 19

® 27S9

® 2709

Question Number : 102 Question Id : 630680254808 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statement/s is / are CORRECT?
(a) Sri Lakshmi Narasimha Swamy Temple, Yadadri is termed as ‘Dakshina Kasi’ (Southern Banaras).

(b) Charminar was built as a ceremonial gateway to celebrate the foundation of Hyderabad at the end of the 17th century.
Options :

# Only (a)

# Only (b)

% Both (a) and (b)

" Neither (a) nor (b)

Question Number : 102 Question Id : 630680254808 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 (808 D8/ S A 1D BRI 1D?

(2) OSTTTOS' 13 ©§ 2 SEDOT 5 BITOAF), 58,69 53" (58,69 0°3D) 9 DEVS.

(b) 1785 38200 DSBS’ 37CIT°erE F0Z0TDID 23BN ETITIE T80 28 €5eh Y65 T30 5SS DBL0NDE0E.
Options :

% (5 (a)

% (S (b)

# (a) OO (b) @O BOCR®

¥ (2) 5°Q SO (b) 5°Q DA 5°¢0

Question Number : 103 Question Id : 630680254809 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following pairs is CORRECT?

Options :

% On Nov 29th, 2008 -- Kalvakuntla Chandrashekar Raohad announced an indefinite hunger strike
% In July 2012 -- UPA government started the Telangana statehood process

% In April 2009 ---TRS party MLAS resigned

+ On May 171 2001---launch of Telangana Rashtra Samithi.

Question Number : 103 Question Id : 630680254809 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 45/67



28/06/2023, 17:51 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

&2 (808 BSOS DA HBIE?

Options :

% 3025 29, 2008 - £ 8800 T0(SFDE T°) €308 DTS HF.& (D830 .
% 278 201265 - BOOME T3 DT*IEN [D(EA UPA 192506 50 |rS0D0D0E

% DS 2009 —TRS 278 DB TETHT B

¥ 30 17, 2001 8---B0MED T a2 D& (B0250.

Question Number : 104 Question Id : 630680254810 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following statements are CORRECT?
(a) In 1953 the Indian government appointed the States Reorganization Commission (SRC) to look into various statehood demands in the
country.

(b) The SRC Commission submitted its report on 30" December 1956, and recommended formation of Telangana state.

(c) During the period between 1955 September and 1956 November, the people of Telangana launched a series of protests demanding
statehood by implementing the SRC recommendations.

(d) Sri M. Chenna Reddy, founded the Telangana Praja Samithi (TPS) political party in 1969 to spearhead the statehood movement.

Options :

& (b), (c) and (d)
& (a), (b) and (d)
¥ (a), (c) and (d)
& (a), (b) and (¢)

Question Number : 104 Question Id : 630680254810 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 (808 |DEOSS” DA/ HBIE/D?

(2) 195365 2755 (5205 50 BIOS' DN THATS BIPOBK HOZDOBETAL T°aT® IS S53VEGED EMAS (SRO)D
QODDOV0A.

(b) SRC EAN 30 3025 195605 €55 ASAED D08 YA, BEOTTED T DT )ENE VBN DO,

(€) 1955 202350 B0 1956 530208 © 0895 S°0ES, BOOMED (923¢0 SRC DT YO 9s0eN TONCO T ST°
Ol ) AXr0& T QSIS DB0IE (QPS0DOTT .

(d) 3 0. T, BE 196965 TR S €5 3rE AES S0 920 TTONE BOOMED (23 DA (E3DIV) O
023809 >0 FDOTR.

Options :

# (b), (c) DO (d)

# (a), (b) HOAW (d)

¥ (a), (c) HOAW (d)

% (a), (b) NBAW (c)

Question Number : 105 Question Id : 630680254811 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
is NOT a tributary of Godavari River.
Options :
% Manjira
# Vagu
% Pranahita
¥ Musi

Question Number : 105 Question Id : 630680254811 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
OO FeI8 SO GO 52,
Options :
% 028
NV
% (oreasred
v SR
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Question Number : 106 Question Id : 630680254812 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following statements are CORRECT?

(a) Banjara Needle Crafts is a form of embroidery and mirror work on fabrics employing the needlecraft.
(b) Dokra Metal Crafts Also known as bell metal craft; widely seen in Medak district.

(c¢) Chindu Bhagavatham is performed widely across Telangana. It is similar to Yakshagana

Options :

# (a) and (b)

% (b) and (¢)

¥ (a) and (c)

% (a), (b) and (c)

Question Number : 106 Question Id : 630680254812 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 (808 |DEOSS” DA/ IBIE/D?

(a) 00270 AIrQ TR EFeN R QA GHTZTFAOD TRS DT T 2NTEE AW G0 DO TR 28
0PI B0.

() B15° DS (S BS &S (5% @ Sz DeTED; B AT S’ DYYS0m™ EADROE.
() DO 238N H0 BOOMPED OHET DRSSO (DB 0TI0CBR0E. A ONETTV) IS &G0eNOD
Options :

% (2) OO (b)

# (b) SBAW (c)

¥ (2) 2DOAW (¢)

% (a), (b) DBAW (c)

Question Number : 107 Question Id : 630680254813 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Which of the following statements are CORRECT?

(a) KCR Nutrition Kit was launched by Health Minister T. Harish Rao at Kamareddy on 315! December 2021.

(b) Mana ooru - Mana badi was launched on 8th March 2022

(c) Dalit Bandhu scheme provides an one-time grant of Rs. 10,00,000/- to the beneficiaries thereby instilling a sense of financial security
and hope for a better future.

Options :

% (a) and (b)

¥ (b) and (¢)

% (a) and (¢)

% (a), (b)and (c)

Question Number : 107 Question Id : 630680254813 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

&3 1808 (HESS” DB/D HBSE/D?

(a) 31 3025 2021 SIFBRS’ e T e O[S €3. SFEN T°) TREsE S5(¢30S 8D [BrB0DoTT.
(b) 8 33°8) 202285 o0 &R - DS 2 (S0 0VDG0E

(c) BV 2000 NHEO DT BEE . 10,00,000/-0> DE-Ds0A 0237 B03) OO, her s0° 08 esB¥ 23(deh
DBAN DO AN BFIS EOAN0.

Options :

# (a) O (b)

# (b) NBAW ()

# (a) 83AW ()

% (), (b) DBAMW (c)

Question Number : 108 Question Id : 630680254814 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In which year the Telangana government has launched Telangana Industrial Project Approval and Self-Certification System (TS-iPASS)?
Options :

% 2012
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% 2013
¥ 2014
% 2015

Question Number : 108 Question Id : 630680254814 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

B0 (D20 0 BOMTED QOB NONS (7BT @5I"IS HDOAN DO ) DFNTAS QD (TS-PASS)A &
H0X$31506 |FE0D0D0E?

Options :

#% 2012

#% 2013

¥ 2014

% 2015

Question Number : 109 Question Id : 630680254815 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Telangana has been ranked in the country in the Sustainable Development Goals (SDG) Index India for the year 2020-2021.
Options :

% fifth

¥ sixth

& seventh

% fourth

Question Number : 109 Question Id : 630680254815 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2020-2021 5063¢5 )T TS HR0WS2NS TBSONR0E H'S ) (SDG) ROTS.) ROGOSTES B0mTed BFOS
05080 FOHOA.

Options :
R OTOWAN!
L EION
PN
ERNIOVON

Question Number : 110 Question Id : 630680254816 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

The Telangana state was inaugurated formallyon ~ 2014.
Options :

¢ June 24

% June 5t

% June 7

% June oth

Question Number : 110 Question Id : 630680254816 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

SO0 TR0 OOSEE0M™ 20140 &@QEHN0D0R.
Options :

¥ 27 2

# 2R 5

% 27 7

® 2709

Question Number : 111 Question Id : 630680254817 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1

Ramappa Temple is a historical temple situated inthe  of Telangana.
Options :

% Hyderabad district

¥ Mulugu district

% Nalgonda district

# Nizamabad district

Question Number : 111 Question Id : 630680254817 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

T°0D) BIOON0 BOOTRSD &S &) 28 8(@0eh8 Bre000.
Options :

# 2000l 3Y°

¥ Qe 30

% Q0 B

# Q2T d 3O

Question Number : 112 Question Id : 630680254818 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Five cousins Mugdha, Lata, Kareena, Sushma, and Radha are seated around a circular table facing the centre. Mugdha is to the immediate
right of Lata. Kareena does not sit adjacent to Radha but is a neighbour of Lata.

Which of the following statement(s) is/are true based on the above conditions?

A) Kareena sits to the immediate right of Sushma.

B) Radha sits second to the right of Lata.

Options :

& A only

% Bonly

% Both A and B

& Neither A nor B

Question Number : 112 Question Id : 630680254818 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

300, e3¢, BT, K032 HBAN T @ ENEED E2BIEN 2,8 HYTSS 2O THEY® TO|E"E) NP O E3rEd Y7 0.
BB ¢5F £ 0BT S0 &) 0. T°EL 19983 8 §58 YBE0, 5°Q) 5 ©¢580 B 358,
20 2GS SB0MT (E0A 1DEEIS(@)ES DE/DR OBSE /D?

A) QX280 5%.69 SOBR D 8T 0 )0 d.

B) ©¢58 0B BOsd S0 T°ed E3rSd)08.

Options :

% A S(¢hadd

% B (5

¥ A DO B Bockr

% A S S B 5 O 55D

Question Number : 113 Question Id : 630680254819 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Six friends Mohan, Manish, Manas, Minal, Mehak and Mohit are sitting in a straight row facing North. Mehak and Mohit are in the
centre. Mohan and Manish are at the corners. Manas is sitting to the immediate left of Mohan. Who is sitting to the immediate right of
Manish?

Options :
¥ Minal
% Manas
&% Mehak
& Mohit

Question Number : 113 Question Id : 630680254819 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1
TS, DA, SFSR, TS, BTE 0B DS €905 3B ) 2PN 2.8 SIS &STD SO
85350 107, 50. OITE SB0KD DS S06556S ) . IS OO DD eSS’ Gar) K. IrTSE S £ IS
IO ST EFBJTYE. HANK S0 SIBBIS DSBS ) 2
Options :
v 0SS
EENVNTS
% 8
# B’

Question Number : 114 Question Id : 630680254820 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In a row of 50 students (all are facing north), Raj is to the immediate left of Kiran whose position is 215¢ from the left end. Find the
position of Raj from the right end.

Options :

% 300

S 321](1

v 318

% 20th

Question Number : 114 Question Id : 630680254820 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

50 S00E DT EHEN K 2,8 FBIES (90ET ESTDSNPOMT Em™) ), DD R DO 2185 TS0’ €Sy 8558
58,69 D50 FYN T8 €5®) 0. F0& DS H0G Tref BWEY F°oeQ) SIS0,

Options :

% 3005

% 3205

¥ 31

% 2905

Question Number : 115 Question Id : 630680254821 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

If the day before yesterday was Sunday, when will Thursday be?
Options :

& Yesterday

#% Today

% Tomorrow

' Day after tomorrow

Question Number : 115 Question Id : 630680254821 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

[0S €3 B2 e3sOTE0 0N, MHBITE0 DI SNOE?
Options :

ESINDY

% 82

% 0

¥ Qo0&

Question Number : 116 Question Id : 630680254822 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Rekha's birthday is on the 10t of April and Seema's birthday is on the 11t of May. If in a particular year, Rekha's birthday was on
Sunday, what will be the day on Seema's birthday in the same year?

Options :
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% Tuesday
¥ Wednesday
% Monday
% Thursday

Question Number : 116 Question Id : 630680254822 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

B B2 DS 10 HAAEN D63 Y32 3 11. 208 AR D055 506 B )EST2 3OS0 ONS, T
03B 1506 D HEST2 & Fa3° €95)e0E?

Options :

EINVelal> vilele)

¥ 200780

# PO

% H&>80

Question Number : 117 Question Id : 630680254823 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be
at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statement [: All mobiles are gadgets.
Statement II: No gadget is a tablet.

Conclusion I: Some gadgets are mobiles.
Conclusion II: Some mobiles are tablets.

Options :

+ Only conclusion I follows

% Only conclusion II follows

% Both conclusion I and II follow

% Neither conclusion I nor II follows

Question Number : 117 Question Id : 630680254823 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
25 50BS (DEEISEN BN BT 2R(HSM 9550, 8 FED DAFPTTB0 B0 SOV FQT O
50 EDD0DSDIEZE, @I SRS BTUT O’ DE (DEEIOD T8 E0T €9 HDENT) T AGOW0I0E.
DEES I: Q) FNBOEN MZEIeN.
Léaéeoé I1: TPES D& €23¢ 5°¢%.
S0 I: §) mBEen Ing@Oew.
SoX0 II: §) InBSen era3Sen.
Options :
¢ BT50 [ S5 90BN
% 30790 IT 37553 9000
% 07250 [ 08050 1T €0 BOCF 9B 0N
% S050 [ 5 B 11 5 D& 9008050

Question Number : 118 Question Id : 630680254824 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
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The figure shows the number of people in an office who eat different kinds of vegetables namely A, B and C.

Find the mumber of people who eat exactly two vegetables.
Options :

% 4

% 39

¥ 35

® 43

Question Number : 118 Question Id : 630680254824 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
S D A, B swdoin € e2c D06 0578 SPOTaO) 8 208 swcs"?se_:o:ijo@&.?) OFEIV DoAY ATEDBI0E.

A
(2

BT° B0t EFRGTPOORD S SIEHIR DO S0 Dok,

Options :
% 4
# 39
¥ 35
% 43

Question Number : 119 Question Id : 630680254825 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Refer to the alphanumeric series given below and answer the following questions:

(Left) 1 % S867&*F4#U@ 1 M!6BH%T?9 (Right)

Find the number of letters which are immediately preceded by a symbol and immediately followed by a number when counted from left to
right.

Options :
# 1
# 3
¥ 2
# 0

Question Number : 119 Question Id : 630680254825 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1B0CS 95528 08 07085 (33 B9 GOTRE (80B (%) 80 DSrerd0 AN 50B:

(D) 1% S867&*FA4#U@IM!6BH%T?9 (&)

D530 0B ZoBE BEYHODEN ) 5369 SNOCN IO 2,8 MHE) HBA5N S 69 SBared TS0’ 2.8 Howsdd EOA
&) 98070 DoPLD TS0,

Options :

® 1

%3
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Question Number : 120 Question Id : 630680254826 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

The height of six friends is as follows. Aman is taller than Rakesh. Subham is taller than Ranjan and Prem is taller than only Mukesh.
Ranjan is taller than Aman. Rakesh is taller than Prem.

Which of the following statement(s) is/are true based on the above conditions?

A) Subham is the tallest

B) Mukesh is the shortest.

C) Rakesh is taller than Subham.

Options :
& A only
¥ A and B
% Band C
% Conly

Question Number : 120 Question Id : 630680254826 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

e3MHB A e & DO &) ON. T°3ox SOTI DS PV &) &0, 3023 0T 023 &P
€50°) €80 SO ST FOTY ST e FPCIT ™) (. @D 0TI B0 T E5) ¢ (e SO T°Bad
PCOTT G0 C.

20 2SSO STS0MT (§0A 1DEEIS(@)SS” VAN OBSE /D?

A) ©08ET) PR 558 0dsed

B) @0880%) ¢S 358 0T

C) Q0230 0T T°Ba) YT o) C.

Options :

% A Sr(had

¢ A H80% B

% B 08 C

% C 3(eda

Question Number : 121 Question Id : 630680254827 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

The age of six students, Ram, Shyam, Mohan, Shivam, Resham, and Lalit are given as follows: Ram is elder than only Resham. Mohan is
not the eldest student. Shyam is elder than four students. Shivam is elder than Ram but younger than Mohan. Who is the eldest student?

Options :

# Resham
% Shyam

" Lalit

% Shivam

Question Number : 121 Question Id : 630680254827 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

T, B°5ad), e, B30, Bdadd S0BAN OO €9 &3BHNHED DT> SADNY) &3 (8O DO ¥ $20T°0N: THO
B0 0B U7 DR, e S @08ET) 08 De3§B 5260, 750 Senthdd AT shedr E0T DRI, T°ad 0T
DRI 57 JeTS 0TI D) 3590, @ONBET™) 0 DeosB DeS?

Options :
% 0o
#® BN
v DS
% 30

Question Number : 122 Question Id : 630680254828 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
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In a certain code language, 'SARCASM' is written as MSACRAS' and 'CHEESE' is written as 'ESEEHC".
Based on the given coding, match the following:

A. WATER 1.LARENEG

B. GENERAL 2. NIATREC

C. CERTAIN 3. YLEVOL

D.LOVELY 4. RETAW
Options :

% A-3,B-1;C-2; D4
% A-4,B-2;C-1; D-3
# A-4,B-1;C-3; D-2
¥ A-4,B-1;C-2; D-3

Question Number : 122 Question Id : 630680254828 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
A= .?JQ?Q B araes’, 'SARCASM'D 'MSACRAS' 99 508010 'CHEESE'D 'ESEEHC' 99 Q"Q"CD.

QIR £ 06 eser0otT, S06 0D RBDGS0A:

A. WATER l.LARENEG

B. GENERAL 2. NIATREC

C. CERTAIN 3. YLEVOL

D. LOVELY 4. RETAW
Options :

% A-3,B-1;C-2; D-4
% A-4,B-2; C-1;D-3
% A-4,B-1;C-3; D=2
¥ A-4,B -1; C-2; D-3

Question Number : 123 Question Id : 630680254829 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In a certain code language, 'num vum dum' is written as 'cats are dogs ', '"hum dum rum' is written as 'dogs don't bite', and 'cats have paws'
is written as 'vum cum pum'. What is the code for the word 'are' in that language?

Options :
% hum
% vum
¥ num
% dum

Question Number : 123 Question Id : 630680254829 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

2,5 Q0N §& 23726, 'num vum dum' Q cats are dogs’ Q) (a0, 'hum dum rum’ Q 'dogs don't bite' €9 (TR0 OB 'cats
have paws' & 'vum cum pum' €99 [FX. € 22’ "are’ @9 DTS §& E3?

Options :

# hum

% vum

“ num

# dum

Question Number : 124 Question Id : 630680254830 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1

Subham walks 5 km towards the north, then turns left and walk 12 km, turns left again and walks 10 km, and finally turns left and walks
for another 12 km. Find the distance from the starting point to the end point.

Options :
% 10 km
¥ 5 km

% 15km
% 20 km

Question Number : 124 Question Id : 630680254830 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Q250 S QI 5 km SAD), DI 38A 12 km SED, 853@@ 5050 e36A 10 km AN, DIBBL 5D ) 38H
O 12 km SATE. (8025 DO RO 005 DOEMHEL S Hied Arord) ERFI0A.

Options :

% 10 km

¥ 5 km

&% 15km

% 20 km

Question Number : 125 Question Id : 630680254831 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the option that is related to the fifth number-letter-cluster in the same way as the second number-letter-cluster is related to the first
number-letter-cluster and the fourth number-letter-cluster is related to the third number-letter-cluster.

S8 :HI9:: M14:N13::V5:7?

Options :

% F22

% E23

¥ E22

% D23

Question Number : 125 Question Id : 630680254831 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

B0 D0 €988 D0 B3 HD0s €958 Do3ITsTa30ED DB TP DO €98 8 DedTT0 305°¢8d
0978 €88 De35s55080 H0220E0DD DO 20638 DOPs @0 & DeNTaTEAsTENE0 H0220H0DD DONED
DotHToB.

S8 :HI9:: M14:N13::V5:7?

Options :

# F22

% E23

¥ E22

% D23

Question Number : 126 Question Id : 630680254832 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Consider the following pairs and choose the pair which matches the given relation.
Disease : Body part

A. Conjunctivitis : Ears

B. Asthma : Lungs

C. Polio : Skin

D. Arthritis : Bones

Options :
% Band C
% Aand D
¥ Band D
% D only

Question Number : 126 Question Id : 630680254832 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1
1B0B 235 HBBEF0LI0R HOAN OB S DOV O &) 235O JOTHEOR.
58 388 exifo
A. 80G3%e>% : TaHew
B. &5 : gd8ed¢en
C. O3 : HB0
D. @33¢3R : Qdwen
Options :
# B 0O C
% A DOAW D
¥ B OO D

% D S°(¢hadd

Question Number : 127 Question Id : 630680254833 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A question is followed by two statements numbered I and II. You have to decide whether the data provided in the statements are sufficient
to answer the question. Read both statements and answer.

Question: What is Shyam's age?

Statement I: Shyam, Ram and Sundar are of the same age.

Statement II: Ram is 5 more than twice the age of Mohan, whose age is 32 years.

Options :

% I alone is sufficient while II alone is not sufficient
& II alone is sufficient while I alone is not sufficient
+ Both I and II together are sufficient

& Neither I nor II is sufficient

Question Number : 127 Question Id : 630680254833 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

1 3508050 1T €903 BOE (HEEISE 5rared 2,8 %) BN DA, (0% 50 IS3rES0 B35 58 e (DEedersS
RS 5ABS DSFTTE0 HOFH0E BE NS AGoN0TTE). BOH (HEEIIDOET IO DAFETI0 RS S0R.
(B F5e0 BBNEY IODNY DOH?

(DEEINS I: 25, T 0O OB 2,8 3NN Kierard.

(D8I II: T AZ0EY 3O 32 D0 IT°E HONKNY HE) FIeT AN IE BOG0OH FOT 5 DEVYD.
Options :

% TP QB0 @O0 1T S7°(¢h 30 DO

# 11 075 DOA0E), 90N I S7°(¢H 30 DO

¥ 10805 11 Bockr O S8 ow

% 15°Q S 11 5°) D& SO0

Question Number : 128 Question Id : 630680254834 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A question is followed by three statements numbered I, I and III. You have to decide whether the data provided in the statements are
sufficient to answer the question. Read all the statements and answer.

Question: Find the mean age of the family.

Statement I: A family consists of a father, a mother and their two children.

Statement II: The mother is 5 years younger than the father whose age is 50 years.

Statement I1I: The elder child is half the age of the father and the younger child is one-third the age of the mother.

Options :

% Only I and III together are sufficient
% Only III is sufficient

% Only I and II together are sufficient
+ All three together are sufficient

Question Number : 128 Question Id : 630680254834 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

I, 1T 08050 T €963 s33°¢8) (5L 5B0a7eh 208 195 B SDA0A. (350 DTG0 R T8 €8 (DSOS’
RS 5IBS DSPTTB0 HOFB0E BE NS AYoN0TTE). @), (DEEISIT A HSTETI0 AN 0.
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(08,1 000200 ABWEY MEN SO I TS0,

B I: 208 50002006 $0(&, SO 0B 778 VYK DOEN =) .

8IS IT: 50 DO YT AN Ked 503 0T O 5 H0Neh YT e DI O.

1B L 29E 8 TBE), SADKNY) HO(B SO KO 0BT DY DG TE), SADHKD)) ) 500
QG0 2,8 Soek.

Options :

% 10005 I S add OOFT N

% 1S OIS0

% 10005 1T S33°(¢hadd OO

¥ 200°¢8 O OO

Question Number : 129 Question Id : 630680254835 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be
at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statement I: Most Medical students are brilliant.

Statement II: Subham is brilliant.

Conclusion I: Subham is a Medical student.

Conclusion II: Some medical students are not brilliant.

Options :

% Only conclusion I follows

+ Only conclusion II follows

% Both conclusion I and II follow

% Neither conclusion I nor II follows

Question Number : 129 Question Id : 630680254835 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

235G (DEEIEEN DO SNAOYD 2 (HBTE 530G, (DI 85 20B S DXTFTTSE0 Q2B 2TV
0T 8OV TATOZ 5) 0 EDDODSDIE3E, B 5DAS BTUTOS’ DE (DELIOD &8 5o
@NIOT B APonodoB.
DEES I: TP D0 FE3§ s BOF SR,
DES II: H250 BOJ IR,
000 I: 230 2.8 s e>esd.
BT3RS0 II: FO500E s De§Ben BOFITS 5.
Options :
% 090 I S5 @O0
¥ ST750 T 57553 @9 DIBN0E
% 0750 1 08050 I &) BOCT 9B 00
% S0S0 [ 52 B 11 50 A 980D

Question Number : 130 Question Id : 630680254836 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
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The bar graph shows the production of TV's and laptops in four consecutive years. Calculate the ratio of TV in 2019 to
laptops in 2022.

BTV (in lakhs) ™ Laptop (in lakhs)
350 - 320 330 10 325
300 -
% 250 4 230 230 230
£ 200 - 180
o
2 150 -
s
3 100 4
50 -
o .
2019 2020 2021 2022
Year
Options :
% 21:23
¥ 23:18
#% 21:18
% 18:23

Question Number : 130 Question Id : 630680254836 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
& €] BaT DB DEVIT T DeDBTOS BIED SG0ID LTV EBBD DFDd. 20196° &

SOBAID 202265 erfdErde DA T8) ool

BTV (in lakhs) = Laptop (in lakhs)
350 - 320 330 510 325
300 -
“r
% 250 | 230 230 230
£ 200 - 180
Hid
3 150 -
g
2 100 |
50 -
o .
2019 2020 2021 2022
Year

Numbers in lakhs — ©)5¢5° ®oaxgen, TV (in lakhs) - & (©£¢5°), Laptop (in lakhs) — ey DETD (55"

Year — ‘&30.;3@360

Options :
#21:23
¥ 23:18
# 21:18
# 18:23

Question Number : 131 Question Id : 630680254837 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
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The following pie chart shows the spending of a country on various sectors. If the total amount spent on agriculture was
Rs. 850 crore, then find the amount spent on Health sector.

Expenditure (in percentage)

Options :

# Rs.
+ Rs.
# Rs.
# Rs.

Question Number : 131 Question Id : 630680254837 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time :

90 crore

900 crore
1000 crore
750 crore

N.A Minimum Instruction Time : 0

Correct Marks : 1
208 P B DSHW DDG Sorreds® BFo 030G, PENOR APAREH. HDTFEIFDS DA BVD Dwgo 6r. 850 Eew

000 e8] GorPDS TR Py DD STRC.

Expenditure (in percentage)

Expenditure (in percentage) — axdy (redoes®), Industrial — Sr8zro0S, Health — e.s&“ﬁéo

Agriculture — §333rao, Infrastructure — 9598 Devrairen

Options :

# Rs.

¥ Rs

# Rs.
# Rs.

Question Number : 132 Question Id : 630680254838 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time :

90 &%
900 §°¢
1000 S
750 §°¢

N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate option to fill in the blank.

He did not do things that the other schoolmates did.

Options :

+ the
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& an
% their
% No word required

Question Number : 132 Question Id : 630680254838 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate option to fill in the blank.
He did not do things that the other schoolmates did.

Options :

¥ the

#® an

% their

% No word required

Question Number : 133 Question Id : 630680254839 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate option to fill in the blank.
He was wearing round glasses, and on his forehead was deep frown.

Options :

# an

% the

% No word required
¥ a

Question Number : 133 Question Id : 630680254839 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate option to fill in the blank.
He was wearing round glasses, and on his forehead was deep frown.

Options :

# an

% the

% No word required
¥ a

Question Number : 134 Question Id : 630680254840 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate option to fill in the blank.
The script was the only hint of Mrinalini's very past.

Options :

& definitely

% frowning

¥ mysterious
% cleanly

Question Number : 134 Question Id : 630680254840 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate option to fill in the blank.
The script was the only hint of Mrinalini's very past.

Options :

% definitely

% frowning

¥ mysterious
& cleanly

Question Number : 135 Question Id : 630680254841 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1

Select the most appropriate option to fill in the blank.
What a contrast him and his friend.

Options :

% through

¥ between

% amidst

% across

Question Number : 135 Question Id : 630680254841 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate option to fill in the blank.
What a contrast him and his friend.

Options :
% through
¥ between
% amidst
# across

Question Number : 136 Question Id : 630680254842 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the given statements has a grammatical error?
Statement A: As he stared out into the dark, a black shadow moved under the trees.
Statement B: You had better let me invest it, because if you take it, you’ll spend it.

Options :

% Only A

% Only B

% Both A and B
+ Neither A nor B

Question Number : 136 Question Id : 630680254842 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the given statements has a grammatical error?
Statement A: As he stared out into the dark, a black shadow moved under the trees.
Statement B: You had better let me invest it, because if you take it, you’ll spend it.

Options :

& Only A

% Only B

% Both A and B
" Neither A nor B

Question Number : 137 Question Id : 630680254843 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the given statements has/have a grammatical error?
Statement A: I knew the risk of snow, though it seldom falls heavy so far south, save high up in the mountains.
Statement B: He said it would tell my whole fortune if I wanted it to.

Options :

¥ Only A

% Only B

% Both A and B

% Neither A nor B

Question Number : 137 Question Id : 630680254843 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the given statements has/have a grammatical error?
Statement A: I knew the risk of snow, though it seldom falls heavy so far south, save high up in the mountains.
Statement B: He said it would tell my whole fortune if | wanted it to.
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Options :
¥ Only A
% Only B
% Both A and B
% Neither A nor B

Question Number : 138 Question Id : 630680254844 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Parts of a paragraph are given below in jumbled order. Arrange the parts in the correct order to form a meaningful paragraph.
A. her conversations with students and posing

B: After a few minutes she got to her feet and began to pace

C. questions here and there. Harry

D. the room in Trelawney's wake, listening to

E. bent his head hurriedly over his book.

Options :

% ABDEC
% CADEB
% BDCEA
¥ BDACE

Question Number : 138 Question Id : 630680254844 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Parts of a paragraph are given below in jumbled order. Arrange the parts in the correct order to form a meaningful paragraph.
A. her conversations with students and posing

B: After a few minutes she got to her feet and began to pace

C. questions here and there. Harry

D. the room in Trelawney's wake, listening to

E. bent his head hurriedly over his book.

Options :

% ABDEC
#% CADEB
% BDCEA
+ BDACE

Question Number : 139 Question Id : 630680254845 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the given statements has/have a grammatical error?
Statement A: We hadn’t rob nobody, hadn’t killed any people, but only just pretended.
Statement B: They were not welcomed home very cordial by their mother.

Options :

% Only A

% Only B

¥ Both A and B
% Neither A nor B

Question Number : 139 Question Id : 630680254845 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the given statements has/have a grammatical error?
Statement A: We hadn’t rob nobody, hadn’t killed any people, but only just pretended.
Statement B: They were not welcomed home very cordial by their mother.

Options :

& Only A

% Only B

¥ Both A and B

% Neither A nor B

Question Number : 140 Question Id : 630680254846 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
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Which of the given statements has/have a grammatical error?
Statement A: We must not look at them, shouldn't we?
Statement B: I am the lost princess, aren't [?

Options :

+ Only A

% Only B

% Both A and B

% Neither A nor B

Question Number : 140 Question Id : 630680254846 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the given statements has/have a grammatical error?
Statement A: We must not look at them, shouldn't we?
Statement B: I am the lost princess, aren't [?

Options :

¥ Only A

& Only B

&% Both A and B

& Neither A nor B

Question Number : 141 Question Id : 630680254847 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate questlon tag to fill in the blank.
His real name is Tom,

Options :
& aren’t it
+ isn’tit
& was it
& wasn't it

Question Number : 141 Question Id : 630680254847 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate questlon tag to fill in the blank.
His real name is Tom, ?

Options :
% aren’t it
« isn’t it
# was it
& wasn't it

Question Number : 142 Question Id : 630680254848 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the option that expresses the given sentence in active voice.
Worried looks were exchanged between Harry, Ron and Hermione as they were unconvinced.

Options :

% Worried Harry, Ron and Hermione exchanged looks as they were unconvinced.
% Unconvinced, Harry, Ron and Hermione were exchanging worried looks.

% Harry, Ron and Hermione exchanged unconvinced looks.

# Unconvinced, Harry, Ron and Hermione exchanged worried looks.

Question Number : 142 Question Id : 630680254848 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the option that expresses the given sentence in active voice.
Worried looks were exchanged between Harry, Ron and Hermione as they were unconvinced.

Options :
% Worried Harry, Ron and Hermione exchanged looks as they were unconvinced.
% Unconvinced, Harry, Ron and Hermione were exchanging worried looks.
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% Harry, Ron and Hermione exchanged unconvinced looks.

+ Unconvinced, Harry, Ron and Hermione exchanged worried looks.

Question Number : 143 Question Id : 630680254849 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following idioms is correctly matched with its meaning?
Options :

& Fit as a fiddle: To go to bed

# Get real: Slow down

+ Eat your heart out: To make yourself sick with grief

% Jump the gun: To say something crazy

Question Number : 143 Question Id : 630680254849 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following idioms is correctly matched with its meaning?
Options :

& Fit as a fiddle: To go to bed

% Get real: Slow down

+ Eat your heart out: To make yourself sick with grief

% Jump the gun: To say something crazy

Question Number : 144 Question Id : 630680254850 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate meaning of the given proverb.If you snooze, you lose.
Options :

& You cannot change what has happened.

¥ Act fast to get what you want.

& To be exceptional

# Something very easy to do

Question Number : 144 Question Id : 630680254850 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate meaning of the given proverb.If you snooze, you lose.
Options :

% You cannot change what has happened.

+ Act fast to get what you want.

% To be exceptional

% Something very easy to do

Question Number : 145 Question Id : 630680254851 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Match the following words with their respective ANTONYMS.

Words Their Antonyms
A. Floppy 1. Lenient
B. Poignant 2. Cheerful
C. Adamant 3. Cognisant
D. Ignorant 4. Stiff
Options :

% A-2,B-1,C-4,D-3
¥ A-4,B-2,C-1,D-3
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% A-3,B-1,C-2,D-4
% A-2,B-4,C-3,D-1

Question Number : 145 Question Id : 630680254851 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Match the following words with their respective ANTONYMS.

Words Their Antonyms
A. Floppy 1. Lenient
B. Poignant 2. Cheerful
C. Adamant 3. Cognisant
D. Ignorant 4. Stiff
Options :

% A-2,B-1,C-4,D-3
¥ A-4,B-2, C-1, D-3
% A-3,B-1,C-2,D-4
% A-2,B-4,C-3,D-1

Question Number : 146 Question Id : 630680254852 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Consider the following pairs:

A. Honour: Respect

B. Stigma: Approval

C. Exaltation: Scorn

D. Misery: Calm

Identify the correct pair of synonyms.

Options :

¥ A only

% A and B only

% Cand D only

% A, Cand D only

Question Number : 146 Question Id : 630680254852 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Consider the following pairs:

A. Honour: Respect

B. Stigma: Approval

C. Exaltation: Scorn

D. Misery: Calm

Identify the correct pair of synonyms.

Options :

¥ A only

% A and B only

% Cand D only

% A, CandD only

Question Number : 147 Question Id : 630680254853 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the correctly spelt word.
Options :

% Foriegn

¥ Aggression

# Decieve

& Calender
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Question Number : 147 Question Id : 630680254853 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the correctly spelt word.
Options :

% Foriegn

¥ Aggression

% Decieve

& Calender

Question Number : 148 Question Id : 630680254854 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the INCORRECTLY spelt word.
Options :

% Guidance

% Category

s Conscious

¥ Heirarchy

Question Number : 148 Question Id : 630680254854 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the INCORRECTLY spelt word.
Options :

% Guidance

# Category

& Conscious

¥ Heirarchy

Question Number : 149 Question Id : 630680254855 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate homophone to fill in the blank.
Had the late Mr. Darcy liked me less, his son might have with me better.

Options :
% born
% bore
% boar
¥ borne

Question Number : 149 Question Id : 630680254855 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate homophone to fill in the blank.
Had the late Mr. Darcy liked me less, his son might have with me better.

Options :
% born
% bore
% boar
¥ borne

Question Number : 150 Question Id : 630680254856 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate homophone to fill in the blank.
I cannot to hear you mentioning this thing again and again.

Options :
% bier
¥ bear
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# bare
# beer

Question Number : 150 Question Id : 630680254856 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate homophone to fill in the blank.

I cannot to hear you mentioning this thing again and again.
Options :

& bier

¥ bear

# bare

# beer
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